“\ 'S

30

Label the number line and draw an arrow to estimate + 10

0 3 4 5 6 7 8 60mm
(30 t0 90)  \ / - 6¢cm
— ) — | N
Work out all the
1= 30 ) _ Round to the .
2 30 |+10= 3 nearest unit 3 factor pairs of Circle the fractions
30 9= 15 EE— which are bigger than |oq
huthd 30 =]00= 0.3 Double it 0.6 1and 30
30_4_7r'20r'30%or' P24 0 m 9
OVTTT 305 =2A) Double it 2 and 15 20 s]|s]| 4 sliJm
— 30 |xjo= 300 >o®el .| 800 - .
30/+5= 6 — 3 and 10 TR
— 376 o 33 ,30\ 100 = 3OOOFind half and 300 Tick the true statements
30 +8 = roor 3% or L J X - subtract 1200 b and 6 would be rounded down when X
S 3.75 — J rounded to the nearest 10
( 30 . ltiole of (cirel ) List the first 10 square numbers and circle is divisible by 8 | ¢
Start with e mdliiphe e el any which are between 3( andl00
( ) \ ( ) 30 has 4 as a factor x
Divide it by 10 3 | 1.2“3] ) .5][61 | 4 3 25 j
Double your 6 7 8 9 10 I 12 36 49 [ 64 J 8 100 has more than 2 factor pairs /
answer L )
Subtract 0.9 5.1 30| 70 [W\ Circle the numbers 's 2 prime number | 3¢
+ = 100 — larger than
il cm — J . 30 |+34<¢8
Add 3.5 8.6 + 970 | = 1000 What is the perimeter :(x\; {'—V'l \/
Multiply it b - : 2 36
0 Py 1 BY 86 of this square? XXXIII LXXXIHI 32 < vs2l X
+ =90 (33) (83)
Round to the 90 30 , 60 4 x30cm LXXXVI LXXII is divisible by 3 \/
nearest 10 p— - 120em = 12 (86) (72)
30+ 150 - &0 sl
00 What is th ? XXX ¢ | ithin 10 of b
Add 2 290 L ) at is the area (29) (100) 30 lis within 10 of 2 square number \/
Round to th + =360 30 cm x 30 cm Xcvi Xiv [ ] o
n:::es' C;Cl(]e 300 30 330 - 900 em? (96) (14) 30 is within 15 of a cube number /

Radius = rnm

Diameter =
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“\ r
Label the number line and draw an arrow to estimate + 10

3 1 } | l Radius = rnm

Diameter =

° 1 2 3 4 5 6 7 8 9 ° 62mm
(30 to 90) \ / = 6.2cm
— — | ™
Work out all the
31 1= 31 A Round to the .
_— 31 - |0 = 31 nearest unit 3 factor pairs of Circle the fractions
1]s2- 15r1 or 15 3 — which are bigger than |gq
~2)""" ori155 31 |=100= 0.31 Double it 0.62 u——
— - . . 1and 31
~_7r3 or72 24"
314= 775 =) Double it s({s]| 4 s nﬂ
31 +5= 6rl or61/5 3_]') x10 = 310 and add 200 820
or 6.2 — : Tick the true statements
— — Find half and
31| x100= 3100 Fn¢ e o | 350
31 +8= 3p7 or 37/8 ) subtract 1200 would be rounded down when /
gt - J rounded to the nearest |0
( _ ltiole of (cirel ) List the first 10 square numbers and circle is divisible by 8 | 3¢
Start with BRI o (el any which are between 31 andl00
( 31 has 4 as a factor | $¢
Divide it by 10| 3.1 ! ] il I I I | 4 3 6 | 25 31
Double your 6 2 7 8 9 10 I 12 [ 36 ] [ 49 ] [ 64 ] [ 8 ] [ 100 ] has more than 2 factor pairs | 3¢
answer . L )
Subfract 0.9 53 ?." 69 00 3—1““ Circle the numbers 's 2 prime number ‘/
= — 4 |larger than| 31
Add 3.5 88 — bl 31 +34<68|
. + 969 |= 1000 What is the perimeter :"“; {'—Uil
Multiply it b - : 25 26
10 PYY Y 88 of Thls Squar‘e? XHKI m 132 ‘: + 52 x
+ - 90 FET || WSS
:g:rﬂeds:c;(:he 90 31 , 59 4 x3lcm DOV ) [ Ooan ) is divisible by 3 | €
+ = 180 =124cm = 1.24m {86 _J | U_(72)
Add 200 290 L 31 ) 149 What is the area? ’:::; 130 31 |is within 10 of 2 square number \/
Round to the + =360 3lecm x 31cm XCvi XIv o
nearest 100 300 31 ) 329 - 961 em? (96) (14) is within 15 of a cube number /
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“\ r
Label the number line and draw an arrow to estimate + 10

3 2 } | l | | | Radius = rnm

Diameter =

0 1 2 3 4 5 6 7 8 9 0 64mm
(30 to 90) \ / = 6.4cm
— — | N
Work out all the
2-1= 32 ) _ Round to the .
3 ) 32 +10= 3.2 nearest unit 3 factor pairs of Circle the fractions
32 22= 16 which are bigger than |oq
— 32 +100= Q.32 Poublei 0.64 1and 32 InInInEE n
32 :4=8
~ = =5 Double it 2 and 16 s||s| 4 s n ﬂ
32].5- 6r2 or 6 2/5 32 x10= 320 ; 4.4d200 [ 840
or 6.4 — Find half and 4 and 8 Tick the true statements
32 8= 4 x32 ) x 100 = 3200 subtract 1200 400 would be rounded down when /
St - o J rounded to the nearest |0
' 32 ltiole of (circl ) List the first 10 square numbers and circle is divisible by 8 \/
Start with BRI o (el any which are between 32 and|00
( | ) 2 ] 3 ( 4 ) 5 6 32 has 4 as a factor /
Divide it by 10 3.2 - - | 4 9 6 25
Double your 6 4 7 8 l 9 10 I 12 [ 36 ] [ 49 ] [ 64 ] [ 8 ] [ 100 ] has more than 2 factor pairs /
answer . L )
Subtract 0.9 55 — T Circle the numbers is a prime number | 3
32 + 68 = 100 — 3 ‘ cm —» | larger than @ \/
. J + 34 < 68
Add 3.5 9 i i XXV VT )
_ What is the perimeter
Multiply it by 32|t/ 968 |= 1000 i : (25) (56) . .: vl %
10 90 P— ot Ihis square YK )| (DO ) 3
+ =90 ’33] J (83)
Round If(:;ofht?. 90 32 58 4 x32cm avvvvmm TeEr s iEn is divisible by 3 | &
neares oo - 186 = 128¢m = 1.28m ) JU_2)
Add 200 290 L 32 ) 148 - What is the area? J:::; 130 is within 10 of a square number \/
Round to the 32 +| 328 =360 32 cmx 32 cm [ XCv )| xiv - N
nearest (00 300 - 1024 em? (96) (14) is within 15 of a cube number /
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33 |

“\ r
Label the number line and draw an arrow to estimate + 10

Radius = rnm

Diameter =

66mm

° 2 3 4 5 6 7 8 9 0
(30 to 90) \
— - N
-] = Round to th Work out all the
ﬁ’ | 33 33 +10= 3.3 n:ar'neﬂ ?.:nife 3 factor pairs of
3|:2- 16rlor 163 —
— (8):11?);‘5 a1 33 +100= 0.33 Doubleit 0.66 1and 33 [
2 P4 or 8.25 ' 33 ) _ 330 Double it 860 3 and 11
33):s- 6r3 or 6 3/5 x10 = and add 200
~ ~ . or 6.6 f33-\x|00_ 3300Flnd han 3I"Id 450
33 +8= 4plor 41/8 ) subtract 1200 ‘\ y
i h
: : . List the first 10 square numbers and circle
Start with 's a multiple of (circle) any which are between 33 andl00
Divide it by 10 3.3 [ | ] O ] i I | 4 9 16 25
Doubl 7 8 9 10 Iy 12
mewer | 6.6 ) (36 JLao JiLee JLar J[Ltoo ]
\. S
Subtract 0.9 5 7 ) PV Circle the numbers
Add 35 L 33 J+ 67 = 100 — 33 ‘ cm —» | larger than
‘ 9.2 _ What is the perimeter XXV LvI
Multiply it by 33+ 967 |= 1000 , (25) (56)
10 92 p— cfthisisquared XXXIN TXXXTTT
+ = 9Q (33) 83
Eg:rnedsifciothe 90 2—-’ 57 4 x33cm DOV )T DX )
+ 180 = 132cm = 1.32m (86) _(72)
- —
Add 200 290 L 33 ) 147 What is the area? XXX ¢
S (29) (100)
Round fo the + =360 33cmx 33 cm [ XCVT ) XV
nearest |00 300 ‘-ﬁ’ 327 = 1089 cm? (96) (14)

= 6.6cm

Circle the fractions

which are bigger than |oq

Tick the true statements

would be rounded down when
rounded to the nearest 10
is divisible by 8

33 has 4 as a factor

has more than 2 factor pairs

is a prime number

@+34{68

132 <+52

is divisible by 3

is within 10 of a square number

NN EANEVNERERNVNE AR EEER AN

is within |5 of a cube number
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“\ r
Label the number line and draw an arrow to estimate + 10

3 4 } | ' | ! | | ' | | - =mm

Diameter =

0 1 2 3 4 5 6 7 8 9 0 68mm
(30 to 90) \ J = 6.8cm
— - N
Work out all the
34 .,- 34 j o Round fo the |
S, 34 =|0= 34 nearest unit 3 factor pairs of Circle the fractions
34 29 = 17 PR EE— which are bigger than |gq
— 34 :100= 0.34 Dowieil | 0.68 S
34_4_8r20r8% 1and 34 21 (4] 1 n
= or 8.5 W _ 340 Double it 880 2 and 17 51151 4 5 n ﬂ
34.s- 6r4 or 6 4/5 x10 = and add 200
_ or6s8 = Tick the true statement
—— 1 _ Find half and Ic e Irue sfalemenis
34 +8= 4r2or 43 \_3_4) X |00 - 34oosubfr‘ac1 200 500 would be rounded down when /
it or 4.25 - J rounded to the nearest |0
( h
_ 34 | . ) List the first 10 square numbers and circle is divisible by 8 | $€
Start with - Is a multiple of (circle) any which are between 34 and|00
34 has 4 as a factor
Divide it by 10 34 @ R | 4 9 6 | 25 j x
Double your 6 8 7 8 9 10 I 12 [ 36 ] [ 49 ] [ 64 ] [ 8 ] [ 100 ] has more than 2 factor pairs | 3¢
answer .
\. S
Subtract 0.9 59 — 3—4\ Circle the numbers is a prime number | 3¢
| 34 + 66 = 100 — ‘ cm —» | larger than @ x
Add 3.5 - +34 < 68
9.4 What is the perimeter XXV LvI
Multiply it by 34 [+ 966 |= l000 , (25) (56)
10 94 of this Squar‘e? XXXl ) 132 'C + 52 x
+ =90 (33) (83)
Round lo the x3_4_-f 56 4 x 34 cm OOV )T XX 34 | is divisible by 3
nearest [0
Add 200 290 L 34J 146 What is the area? ’:::; 130 l is within 10 of 2 square number \/
Round fo the + =360 34 cm x 34 cm XCVI XIV L
nearest 100 300 34 ) 326 - 1156 cm? (96) (14) is within 15 of a cube number /
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35

“\ r
Label the number line and draw an arrow to estimate + 10

Radius = rnm

Diameter =

0 2 3 4 5 6 7 8 9 0 70mm
(30 to 90) . =7cm
— ) —— 4 )
Work out all the
- 1= 35 ] _ Round to the .
g 35 |+10= 3.5  nezrest unit 3 factor pairs of Circle the fractions
35 L9 = 17rlor 173 PR which are bigger than |gq
oY) " or175 35 |=100=0.35 Double i 0.70 ———
— - : : 1and 35
35 s 4= 8r3 or 8% Y 4 | | n
LS or 8.75 ) Double it s||s| 4 s nﬂ
— 35 xlo= 350 _°o%%! 900 5and 7
and add 200
35 et Tick the t tat t
— — ’ ) _ Find half and 1C e True stalemenls
35 +8= 4r3or 43/8 L 35J x 100 =3500 subfract 1200 550 would be rounded down when x
S - o J rounded to the nearest 10
' 35 | iole of (circl ) List the first 10 square numbers and circle is divisible by 8 | ¢
Start with BRI o (el any which are between 35 andl00
f ) ( ) 35 has 4 as a factor | §¢
Divide it by 10 3.5 B RN | 4 9 16 25 j
Double your 7 8 9 10 I 12 36 49 64 8 100 has more than 2 factor pairs | ¢
answer 70 L S ) [ ] [ ] [ ] [ ] [ ]
Subtract 0.9 6.1 ,ﬁ\ 65 ?‘ S o oo is a prime number | ¢
+ = 100 — _, |larger than| 3
Add 3.5 96 — bl ’ 35 +34<e8| %
35+ 965 |= 1000 What is the perimeter XXV Vi
Multiply it by 96 of this square? (25) (56) 32 c v52| %
10 p— qua XXX | OXXXim )
+ =90 (33) (83)
reloe 100 | 39055 dx35em | || (000 (7oA oot 3|
Add 200 300 . J What is the area? J:::; 130 is within 10 of 2 square number \/
— _(100) _J
Round to the + = 360 35 cm x 35 cm XCVI Xiv o
n:ar\nes' C;OO 300 35 325 = 1225 cm? (96) (14) is within 15 of a cube number /
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“\ r
Label the number line and draw an arrow to estimate + 10
Radius =rnm

Diameter =

36

0 1 2 3 4 5 6 7 8 9 0 72mm
(30 to 90) \ g =7.2cm
—— 4 N\
Work out all the
1= 36 ) _ Round to the .
% 36 +10= 3.6 nearest unit 4 factor pairs of Circle the fractions
hich are bigger than |gq
+2= 18 ) w
_J36 - = Double it 1and 36
— =100 . :
36/:4- 9 2 and 18 204 1 |
Suthd =V Double it 3 and 12 5|{s| 4 s n
7rior 71/5 36 xlo= 360 4 200 | 920 ﬂ
36+5= ., — 4 and 9
or7. : - ~ Find half and 6 and 6 Tick the true statements
36 +8= 4rdor 4z \36 J x100 = 36008ub7r‘ac1 1200 600 would be rounded down when X
Sl or45b5 — - J rounded to the nearest |0
d h
: : ‘ List the first 10 square numbers and circle is divisible by 8 | $¢
Start with @'s a multiple of (circle) any which are between 36 and |00
( Y ) 36 has 4 as a factor /
Divide it by 10 3.6 ! ][ O ][ i I O | 4 9 16 25
Double your 7 2 7 ‘ 8 9 I 10 12 [ 36 ] [ 49 ] [ 64 ][ 8l ] [ 100 ] has more than 2 factor pairs /
answer . L — )
= P _ 4 | larger than
Add 3.5 08 P— - ’ 36 +34<68| K
+ 964 |- 1000 What is the perimeter :‘:;; {I'fﬁil
+ - 90 (33) (83)
o 00 | (3654 e (e R
+| 144 |= 180 = 144cm = 1.44m 36l _J_(72)
Add 200 300 L 36J What is the area? ’:::; c l is within 10 of 2 square number \/
Round to the + =360 36 cm x 36 cm Xcvi XIvV S
nearest 100 300 36 324 1206 cm? (96) (14) is within 15 of a cube number /
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“\ r
Label the number line and draw an arrow to estimate + 10
: } | l | | | ' | |

(30 to 90) \ /

/Work out all the h

- 1= 37 ] _ Round to the .
37 37 +|0= 37 nearest unit 4 factor pairs of Circle the fractions

18rl1 or 18% 100

3—7 which are bigger than |oq
7 or 185 37 = 100 = 037 Double it 074 1and 37 —
- or 9.25 Double it 21|55 4 5

+5=
37 or74 Tick the true statements

— — ( ) _ Find half and
37 +8= 4p5or 45/8 \3_7j X |00 _3700 subtract 1200 650 would be rounded down when

Radius = mm

Diameter =

74mm
= 7.4cm

AL - J rounded to the nearest |0 X
( _ : ‘ ) List the first 10 square numbers and circle is divisible by 8 | 3¢
Start with BRI o (el any which are between 37 andl00
o | 2 3 4 5 6 37 has 4 as a factor | ¢
Divide it by 10 3.7 l l I 4 9 l6 25
Double your 7 8 9 10 I 12 36 [ 49 ] [ 64 ][ 8 ] [ 100 ] has more than 2 factor pairs | ¢
answer 74 J
i i b
Subtract 0.9 65 ?\." 63 oo @‘ ICir‘cle ::e nurgl:;r‘s is a prime number \/
- — | larger than -
Add 3.5 10 — cm 2 37 +34<ce| &
i i XXV LvI
- 37 + 963 - 1000 What is the perimeter y
Multiply it by £ thi ’ (25) 56 3 c v52| %
10 100 p— ot This square XXX | (DO )
+ - 90 (33) (83)
Round :(:;(;he 100 37 53 4 x 37cm [ DXXXVI ] (DX ) is divisible by 3 | %€
neares ) = 148cm = 1.48m (86) L (72) )
37 |t 143 |= 180 : ‘ XXX | € ) |
Add 200 300 L ) What is the area? (29) 100 37 |is within 10 of 2 square number \/
) (_(100)
Round fo the + =360 37 cm x 37 cm l XCVi l XIv o
nearest 100 300 37 323 - 1369 cm? (96) (14) 37 is within |5 of a cube number /

© Eastpoint, NR32 2EX www teachingconcepts.com  For best results, use Show-me slim drywipe pens and Show-me mini foam erasers. RRB6A



38

\ s
Label the number line and draw an arrow to estimate + 10

Radius = rnm

Diameter =

0 2 3 4 5 6 7 8 76mm
(30 to 90) \ ’ = 7.6cm
— {f'
+ = 38 . _ Round to the Work out all the
3_8; 38 +10= 3.8 nesrest unit 4 factor pairs of Circle the fractions
38-:2= 19 PR, ! and 38 which are bigger than |oq
— - = Double it an — e
3—8.4_ 5r3 or oI 38 +100=0.38 0.76 I I n
~Y77 7 or95 o) | Double it an 20|s5||s5| 4 s
— 38 xl0=380 960
385 - 7r3or 7 3/5 X190 = and add 200
or7.6 - S Find half and Tick the true statements
— 3 _
38 +~8 = 4ré or 4% k38 ) X lOO _3800 subtract 1200 700 would be rounded down when
—— or 475 — o J rounded to the nearest 10| 3
i B
_ _ , List the first 10 square numbers and circle is divisible by 8
Start with 's a multiple of (circle) any which are between 38 andl00 .
38 has 4 as a factor
Divide it by 10 3.8 ‘[ | ][ : ] S A I | 4 9 3 25 j X
Double your ‘ 7 8 9 10 I 12 m has more than 2 factor pairs
Dol 76 || | |3 el || (38 x
Subtract 0.9 67 ’ﬁ\ 62 3—8“‘ Circle the numbers 's 2 prime number X
Add 3.5 =8 - ll PIET T 38 +34<68
| 10.2 What is the perimeter o) X
Ply i . + 962 |= 1000 i (25 |\_ts6) J
:’éuﬁlph' it by 102 of this square? v TR 132 < + 52 %
]
+ =90 (33) (83)
Round o fhe 387 52 4 x 38cm [-mml-] TR s divisible by 3
nearest 10 100 ol 14 |- o = 152cm = 1.52m (86) J_(72) X
Add 200 38, 2 - What is th ? XXIX C is within 10 of b
300 . 38 322 328 is e;8r'ea (29) 100 ls within 10 of 2 square number ‘/
Round to the + =360 cm X cm RCVT Xiv C] o
nearest 100 300 - = 1444 cm? {96) (14) 38 is within |5 of a cube number J
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“\ r
Label the number line and draw an arrow to estimate + 10

39 | | | | 1| | | | | S

Diameter =

0 1 2 3 4 5 6 7 8 9 10 78mm
(3010 90) N / - 7.8cm
— . '\
L= 39 . _ Round to the Work OL”: all the
2 39 +|0= 39 nearest unit 4 factor pairs of Circle the fractions
39 L9 = 19rlor 193 PR which are bigger than |gq
huthall or 195 39 +100=0.39 Doubleit 078 1 and 39 . n
_an 9r3 or 932 ) — 2400 1|3
+4 =
g or 9.75 39 _ 390 Double it 980 3 Clnd 13 ! ! 4 5 n ﬂ
3—9;5- 7r4 or 7 4/5 x10 = and add 200
== or7.8 ,39 N 100 3900 Find half and 750 Tick the true statements
X =
.8 = J btract 1200 Id b ded d
39/:8= 4r7or 47/8 | |7F subtrac N DANEE] Mawiivireriomtita F-
( : : ‘ ) List the first 10 square numbers and circle 39 is divisible by 8 | $¢
39 A & (e 9
Start with e mdliiphe e el any which are between 39 and |00
39 | has 4 as a fact
Divide it by 10 3.9 @ 2 415 ] ¢ | 4 9 6 s E as 4 asa facfor | ¢
Ecs):’lvb;i your 7 8 7 8 9 10 I 12 36 [ 49 ] [ 64 ][ 8 ] [ 100 ] has more than 2 factor pairs | ¢
n .
. S
Subtract 0.9 6.9 Ir3—9\ 61 3—9\‘ T — is a prime number x
+ = 100 — _, |larger than 39
Add 3.5 104 — : il sxw 39 |+34<68| %
- + 961 | = 1000 What is the perimeter o) -
':(‘)””'P'V It by 104 of this square? " 132 < +52| %
+ = 90 (33) 83
rndiethe 100 | 327 91 4x 39 oo (<o avsievr 3| v
39 + 141 = 180 = 156cm = 1.56m (86) &
Add 200 300 L ) What is the area? ’:::; 130 is within 10 of 2 square number \/
Round to th + =360 39 cm x 39 cm XCVI Xiv
n::PnQSi C.;OOE 300 39 321 - 1521 em? (96) (14) is within 15 of 2 cube number /
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40

.

Label the number line and draw an arrow to estimate + 10

i N

Radius = rnm

Diameter =

80mm

0
(30 t0 90)  \

4E+ = 40

Eu = 20

4—0 +4= 10

4—0 +5=8

40 :5- 5

Start with
Divide it by 10 4

Double your
answer

Subtract 0.9

8

@+I0= 4

40 |-100=0.4
40 |« |0 = 400

40 x100 =4000

/Work out all the

N

= 8cm

Circle the fractions

which are bigger than |oq

Tick the true statements

-~

is a multiple of (circle)

a2t

:

Round to the .
nearest unit 4 factor pairs of
Double it 08 1 and 40
Double it 1000 2 and 20
and add 200
4 and 10
Find half and
subtract 1200 | 800 5and 8
h
List the first 10 square numbers and circle
any which are between 4() andl00
I 4 9 16 25

(=)(~)

9l|

12

36

[+

et

(o1 ) (0

J

would be rounded down when
rounded to the nearest 10
is divisible by 8

40 has 4 as a factor

has more than 2 factor pairs

7 1 — ) Circle the numbers
: + = 100 40
rad 1 s 10 6 | 4OJ 60 — ‘ cm —» | larger than @ + 34 < 68
. + 960 | = 1000 What is the perimeter :‘:;; {'I-;;']
':éu”iplr it by 106 of this square? ool — 132 < + 52
‘)
+ =90 (33) {83
:g::eds:f:;(:he 110 40 , 50 4 x 40 cm DOV )T DX is divisible by 3
40 + 140 = 180 = 160cm = 1.6m (86) h—(ﬂl—d
Add 200 310 L ) What is the area? XXX ¢ .mis within 10 of 2 square number
— (29 (200
Round to th - = 360 40 cm x40 cm XCvi XIv o
n::PnQSi C.;OOE 300 40 320 - 1600 cm? [96] (14) is within |5 of a cube number

is a prime number

AN ERLER AR NN NANE,
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“\ r
Label the number line and draw an arrow to estimate + 10

(30 to 90) \ %

Radius =rnm

Diameter =

82mm
= 8.2cm

— ™\
t all the
1= 41 j o Round fo the Work oul
41 ) 41 +10= 4.1 | c.rest unit 4 factor pairs of Circle the fractions
20r1 or20% which are bigger than |gg
41)+2- ) o
. 2 . . — i
(;(;rloof o1 41 +100= 0.41 Doubleit 0.82 1 and 41 > (4] 1 n
414 : - p—
S or 10.25 Double it 5 |[5] 4 5
—WEAT: 41| xj0= 410 St (1050 L)
. or 8.2 — : Tick the true statements
[ | +8= 41 - X |00 = 4100 ::llir‘h;:: T;l;lﬂ 850 would be rounded down when
ﬂ ) 5rlor 51/8 — e J rounded to the nearest 10
( _ ltiol ircl | List the first 10 square numbers and circle is divisible by 8
Start with e mdliiphe e el any which are between 4] andl00

41 has 4 as a factor
Divide it by 10 41 ()23 ]4]s s | 4 9 6 | 25
Double your 8 2 7 8 9 10 I 12 36 [ 49 ] [ 64 ] [ 8 ] [ 100 ] has more than 2 factor pairs

answer

\. S

Subtract 0.9 73 —— T\ o e b is 3 prime number
— cm —»

1 = rqer than
Add 3.5 10.8 h 4 “+ 29 °° eroer @+ 34 < 68

[ % % %[ |%|% % <

What is the perimeter XXV LvI
Add 200 310 >4_1<+ 139 |= 80 Wit 15 the srear o )| (4L ] within 10 6% » square number
E::Pnedsﬁ[:ge 300 i+ 319 |=3¢0 41=Cl"28’<13n§m T::)' :c;; is within 15 of a cube number
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42 |

“\ r
Label the number line and draw an arrow to estimate + 10

Diameter =

° 2 3 4 5 6 7 8 9 0 84mm
(30 to 90) \ g = 8.4cm
— 4 ™
Work out all the
2 -1= 42 A Round to the .
4_, 42 =+ |0 = 42 nearest unit 4 factor pairs of Circle the fractions
42 L2= 21 PR which are bigger than |oq
—— 42 -100= 0.42 Doubleit 0.84 1 and 42
42, - 10rZor 10 S NENEIE
T T or 105 42) in_ 420 Doubleit 1040 2 and 21 s |s| 4 s n 10|
425 - 8r2 or 82/5 e xlo= and add 200 o
or8.4 — Find half and and 7 Tick the true statements
42 +8= 5r2 or 5% . 42; x100 = 42005”'3"'3‘51 1200 900 3and 14 would be rounded down when /
— or 5.25 — - / rounded teo the nearest 10
( h
_ ‘ : List the first 10 square numbers and circle is divisible by 8 | §¢
Start with '5 a mulfiple of (circle) | |,y which sre between 42  andl00
42 has 4 as a factor | §¢
Divide it by 10 472 DB EBEaE @ | 4 9 l6 | 25
Double your 8 4 8 9 10 I 12 36 [ 49 ][ 64 ] [ 8 ] [ 100 ] has more than 2 factor pairs /
answer . L )
Subtract 0.5 75 ’4—2‘+ 58 00 ?‘ Circle the numbers 's 2 prime number | 3¢
= — em » | larger than -42
Add 3.5 11 b 2 : : - = 42 +34<¢8| &
+ 958 | = 1000 What is the perimeter o) {I'-sﬁl
Multiply it b . - -
o 110 p— i e SELErey XXXIIE DX ) 3 c RS
+ =90 (33) (83)
Round 'fc;othe 110 42 48 4 x 42 cm poxvi (T oo ) is divisible by 3 | y/
neares r—\+ - 180 - 168cm = 1.68m (86) (72) )
Add 200 310 L 42J 138 - What is the area? J:::; [130} is within |0 of 2 square number \/
Round to the + =360 42 cm x 42 cm Xcvi XIv o
nearest 100 300 k4—2J ﬁ - 1764 cm? (96) (14) is within |5 of a cube number /

Radius = rnm
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43

(30 to 90)

.

Label the number line and draw an arrow to estimate + 10

Radius = rnm

Diameter =

86mm

43

21r 1 or 21%
or 215

10r3 or 102
or 10.75

8r3or 8 3/5
or 8.6

5r3or 53/8

Start with

Divide it by 10

4.3

Double your
answer

Subtract 0.9

8.6
7.7

Add 3.5

11.2

Multiply it by
10

112

Round to the
nearest |0

110

Add 200

310

Round to the
nearest |00

300

= 8.6cm

4 N
Round to the Work Out all The
43 =10= 4.3 nearest unit 4 factor pairs of Circle the fractions
which are bigger than |gq
43 |.100= 0.43 Double it 0.86 1 and 43
: ' I I '
Double it 5 |s| 4 s nﬂ
43 «|10= 430 i 200 1060
-
- ~ ) Tick the true statements
_ Find half and
\43 J x 100 = 4300 subtract 1200 950 would be rounded down when /
_ (N 4 rounded to the nearest 10
' . iole of (circl ) List the first 10 square numbers and circle is divisible by 8 | $¢
BRI o (el any which are between 43 andl00
43 has 4 as a factor x
l | l 2 3 4 3 6 [ 4 9 16 25
7 8 9 10 I 12 36 [ 49 ] [ 64 ] [ 8 ][ 100 ] has more than 2 factor pairs | §¢
. S
i i b
f4—3\+ 57 100 43 ‘ Circle the numbers 14 2 prime ndmoer \/
= P _ 4 | larger than
) cm ; 43 |+34<68| &
What is the perimeter XXV Lvi
+ 957 |= toco f th i 2 (25) = 32 v52| ¢
of this square <
p— gud x{:;);l]u [ u:::lm ]
+ = 90
43 , 47 4 x 43 cm XXXV 'W] is divisible by 3| €
( 43 |+ 137 |= 180 = 172cm = 1.72m (86) (72)
) - What is the area? XXIX c 43 |is within 10 of 3 square number
P— (29) (100) u ‘/
+ =360 43 cm x 43 cm XCvi XIv o
43 ) 317 - 1849 cm? (96) (14) is within |5 of a cube number x
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“\ 'S

44 |

Label the number line and draw an arrow to estimate + 10

Diameter =

Radius = rnm

° 2 3 4 5 6 7 8 9 0 88mm
(30 to 90) . / = 8.8cm
— - N
Work out all the
44 .- 42 j _ Round fo the |
S 44 :10= 44 nearest unit 4 factor pairs of Circle the fractions
44 9= 22 which are bigger than |oq
R 44 :100= 0.44 Dowieit | 0.88 1 and 44
44 . 4- 11 z2 14 ! n
— 44),10= 440 Dot (1080 2 and 22 ) s e
44 s - 8rd or 8 4/5 x10 = and add 200
' or 8.8 i — Find half and 4 and 11 Tick the true statements
44 8= or4 or 5z \_44) x 100 = 44oosubfr‘ac1 1200 1000 would be rounded down when
or55 — . J/ rounded to the nearest [0 /
' . iole of (circl ) List the first 10 square numbers and circle is divisible by 8 X
Start with e mdliiphe e el any which are between 44 andl00
) 44 has 4 as a factor
Divide it by 10 44 l | I l 2 l 3 [ M I | 4 9 16 25 j v
Double your 7 8 9 10 I l 12 .ﬂ has more than 2 factor pairs
answer 88 L ) 36 [ 49 ] [ o4 ][ 81 ] [ 100 ] \/
Subfract 0.9 79 CAn) 4—4‘ Circle the numbers 's 2 prime number X
k4'4' +| B6 =100 — ‘cm _ |larger than 44 | @ vi< o
Add 3.5 - +34<
11.4 _ What is the perimeter XXV Vi X
Multiply if by 44+ 996 |- 1ot f thi : o) it 32<(44 |+ 52
0 114 p— SIinis squiahe XXXIlI LXXXIII %
+ =90 (33) {83)
:g:rﬂeds:c;(:he 110 4417 46 4 x 44 cm DXXXVI XX is divisible by 3
MR - 186 = 176cm = 1.76m U Lz J X
Add 200 310 L 44J 136 What is the area? ’:::; is within 10 of 2 square number L
)
Round to the 44 +| 316 |=3¢0 44 cm x 44 cm Xcvi XIV is within 15 of 2 cub b
nearest 100 300 -/ = 1936 cm? _(96) (14) is within of a2 cube number x_
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45 |

“\ r
Label the number line and draw an arrow to estimate + 10

Diameter =

Radius = rnm

0 2 3 5 6 7 8 9 0 90mm
(30 to 90) \ g = 9cm
— 4 )
Work out all the
1= 45 ] _ Round to the .
4—_5/ @T |0 = 45 nearest unit 4 factor pairs of Circle the fractions
45 L9 = 22rlor 223 PR which are bigger than |gq
= or 22.5 45 -100= 0.45 Doubleit 09 1 and 45
45+4=11r10r 111 3 and 15 2 ' I
S 11.2 ) Double it an 5 |5| 4 nu
— orlles 45 0= 450 Powlel 11100
o and add 200
45/+5= 9 I 5 and 9
i p . Find half and Tick the true statements
45 +8= br5or 55/8 . 45J X |00 - 45OOSUbTr‘2C1 1200 1050 would be rounded down when
S _ - J rounded to the nearest 10| 3¢
d h
: : ‘ List the first 10 square numbers and circle is divisible by 8
Start with '5 2 e el any which are between 4F  and|00 X
4 has 4 as a factor
Divide it by 10 45 D 2 o = ] ¢ | 4 9 6 | 25 E v
Double your 7 8 E] 10 I 12 36 49 64 8 100 has more than 2 factor pairs
answer 90 L ) [ ] [_] [ ] [ ] \/
Subtract 0.9 8 1 f4—5‘ 55 F‘ Circle the numbers 's 2 prime number X
: + = 100 larger than 4
— cm —» ger than o)
Add 3.5 11.6 - / — f - 45 |+34<¢8 «
. What is the perimefer
Multiply it by + 955 | = 1000 | , P (25) 56
0 116 of this square? o m 132 < + 52 %
+ =90 (33)
Round to the 120 45 45 4 x 45 cm oo O i is divisible by 3
nearest 10 P— \/
45 + 135 |= 180 = 180cm = 1.8m (86) 22 )
Add 200 320 L ) 3 What is the area? i‘::; [130} I is within 10 of 2 square number /|
)
Round fo the + =360 45 cm x 45 cm Xcvi XIv o
nearest 100 300 45 315 - 2025 em? (96) (14) is within 15 of a cube number y
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“\ r
Label the number line and draw an arrow to estimate + 10
6 } | ' | | | ' I |

(30 to 90) \ %

Radius = rnm

Diameter =

92mm
= 9.2cm

— ) /Wor'k out all the )
1= 46 ] ] _ Round to the .
ﬁ; 46 +|0= 46 nearest unit 5 factor pairs of Circle the fractions
46 29 = 23 PR \/ EE— which are bigger than |gq
—— 46 -100= 0.46 Double it 0.92 1 and 46
46):4- 11r2 or 113 2 (4 1 n
YT orilh 46w in . 460 Doubleit 1120 2 and 23 s |s| 4 s n 10|
46 5= rlor 91/ x10 = and 2dd 200
' or 9.2 —— _ Tick the true statements
— — _ Find half and
46 +8 = oré or 5% L 46J X |00 - 46005ub1rac1 200 1100 would be rounded down when
— or 5.75 — - / rounded to the nearest 10| 3¢
(" h
_ ‘ : List the first 10 square numbers and circle is divisible by 8
Start with is a multiple of (circle) any which are between 46 and 100 X
46 has 4 as a factor
Divide it by 10 46 I l ll z I 3 4 3 6 | 4 9 16 25 :] X
Double your 7 8 9 10 I 12 36 49 64 8 106 has more than 2 factor pairs
answer 9-2 L ) [ ] [ ] [ ][ ] x
Subtract 0.9 83 — ? Circle the numbers is a prime number %
46 +| 54 |= 100 — ‘ cm —» | larger than 46
Add 3.5 11 8 - - —_— +34 <68
. _ What is the perimeter XXV LvI X
Multiply it by 46 +| 954 | = ooo f this square? 25) el 132 <+52
(e} I ar
10 118 ,4—6\+ 44 |-5 9 )?;);I}II LX::I]I %
Round If(:;ofht?. 120 4 x 46 cm LXXXVI XX is divisible by 3
neares r—\+ - 180 - 184cm = 1.84m (86) 72 X
Add 200 3 20 L 46 ) 134 - What is the area? XXIX c is within 10 of 2 square number
e (29) 100 L
Round fo the + =360 46 cm x 46 cm Xcvi XIv o
nearest 100 300 46 314 - 2116 e (96) (14) is within 15 of a cube number s
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“\ r
Label the number line and draw an arrow to estimate + 10
: } | ' | | | ' I |

(30 to 90) \ %

Radius = rnm

Diameter =

94mm
= 9.4cm

— /Wor'k out all the )
1= 47 ] ] _ Round to the .
4_7; 47 +=10= 47 nearest unit 5 factor pairs of Circle the fractions
47 L9 = 23rlor 233 PR which are bigger than |gq
) or 23.5 47 -100= 0.47 Double it 0.94 1and 47
47 ¢~ Ur3or il 2 (4] 1+ 1 [3]]9]
LS or 11.75 47 10 = 47(Q Doubleit 1140 5 |5] 4 5 n ﬂ
47 25 = 9r2 or 92/5 and add 200
— or 9.4 ( 47“ 100 = 470QFind half and 1150 Tick the true statements
47 +8= Bp7o0or 57/8 L J X - subtract 1200 would be rounded down when X
SLES _ - J 7 rounded to the nearest |0
' . ltiole of (circl ] [List the first 10 square numbers and circle is divisible by 8 | §¢
Start with BRI o (el any which are between 47 and 100
has 4 as a factor
Divide it by 10 47 @ 23| v ] | 4 9 6 25 E x
Double your 9 4 7 8 9 10 I 12 36 [ 49 ] [ 64 ] [ 8 ] [ 100 ] has more than 2 factor pairs | §¢
answer . L )
Subtract 0.9 85 ,4—7\4’ 53 00 7.‘ Circle the numbers is a prime number \/
- — cm —» | larger than
Add 3.5 12 b 2 47 |+34<68| &
+ 953 |= 1000 What is the perimeter ;‘X\; {Wl]
Multiply it b - : 25 35
o 120 rm— 7 i SGHLEr e XXX DO 132 ‘ *52l X
+ = 90 (33) {S3I J
:g:rﬂeds:c;(:he 120 47 | 43 4 x 47 cm [~ DXV ) 'W] is divisible by 3 | ¢
+ = 180 = 188cm = 1.88m (86) (72)
Add 200 320 L 47J 133 - What is the area? J:::; [150} 47 Iis within 10 of 2 square number \/
Round fo the 47 |+ 313 =360 47 cm x 47 cm XCVi ] XIV -
nearest 100 300 J - 2209 em? (14) is within 15 of a cube number X
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48

“\ r
Label the number line and draw an arrow to estimate + 10

0
(30 to 90) \

48 == 48

48 |:2-= 24

48 :4= 12

A 9r3or 93/5
48 :s- or 9.6

48 8= 6

Start with
Divide it by 10 48

Double your

answer

Subtract 0.9

9.6
8.7

Add 3.5 122
T:)ul‘riply it by 122

Round to the

nearest |0

120

Add 200

320

Round to the
nearest |00

300

/Work out all the

N

Radius = rnm

Diameter =

96mm
= 9.6cm

Circle the fractions

which are bigger than |oq

Tick the true statements

Round to the
@+ |0 = 48 nearest unit 5 factor pairs of
Ty ————,
48 |-100=0.48 Doubleit 0.96 land 48
2 and 24
48 Dowble it [ 442~ )
ﬁ x10=480 a0 | 1160 3and 16
( 0 Find half d 4 and 12
— n alt an
- L )
[ ™
-4 i ; . List the first 10 square numbers and circle
8 is a multiple of (circle) any which are befween 48 00
|||[2]|3||4|5 ¢ | 9 p .

ADEAIRRE) 3

[49][64]

(o (o0 )

would be rounded down when
rounded to the nearest 10

is divisible by 8

48 has 4 as a factor

has more than 2 factor pairs

\. S

T A | Circle the numbers
§ 48 + 52 = 100 — 48 ‘ cm —» | larger than
: i XXV LvI
+ 952 - 1000 What is The perimeter (25) (56)
of this square? XXXIII XXX
+ =90 (33) 83
48 | 42 4 x 48 cm OOV ) (T DX )
o)+ - 180 = 192cm = 1.92m (86 JA_U72)
L 48 ) 13 2 What is the area? XXX c
— (29) (100)
48 +| 312 | =360 48 cm x 48 cm Xcvi X1V
— = 2304 cm? Qe

is a prime number

@+34{68

132 <+52

is divisible by 3

is within 10 of a square number

NEANERARARARNANANE.

48 is within 15 of a cube number

X
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49 |

“\ r
Label the number line and draw an arrow to estimate + 10

Radius = rnm

Diameter =

0 2 3 5 6 7 8 9 0 98mm
(30 to 90) \ g = 9.8cm
— 4 N
Work out all the
49 .,= 49 A Round to the .
—— T TETRTE @T |0 = 49 nearest unit 5 factor pairs of Circle the fractions -49
o rlorc4as which are bigger than |gq
ﬂ 27 or245 49 -100= 0.49 Double it 0.98 land 49
49 ;- 1erlor 12 7 and 7 2 [« 1 1 [3]]9]
i or 12.25 DT Double it 5 |s| 4 s n ﬂ
"7 or9.8 - ~ _ Tick the true statements
— — _ Find half and
+8= 6rlor 61/8 L 49J x100 = 4900 subtract 1200 1250 would be rounded down when X
S - o J rounded to the nearest |0
' 49 : iole of (circl ) List the first 10 square numbers and circle is divisible by 8 | ¢
Start with BRI o (el any which are between 49 and |00
49 has 4 as a factor
Divide it by 10 49 | l 2 3 4 5 é [ 4 9 6 25 :} x
Double your 9 8 7 l 8 9 10 I 12 36 [ 49 ] [ 64 ] [ 8 ] [ 100 ] has more than 2 factor pairs | ¢
answer . L )
i i b
swtrect 09 | 89 | (29051 |- o 49 | Eirele e runbs 43 prime number | 5
= — _ , | larger tha
Add 3.5 12 4 - o : n( 49 ] 49 |+34<e8| %
. (r—
. + 951 | = 1000 What is the perimeter :‘:;; LVI
Multiply it b . _(56)
0 PYY Y 124 of this square? XXXIII SR 132 ‘C +52| X
_ (33) (83)
Round to the 49 +| 41 =% == 49 i avi
nearest 10 120 -7 1946x 49 ir;é L):::l\fl li:;x“ is divisible by 3 | §¢C
= cm = 1.50m 2 __
+ = |80
Add 200 320 L 49J 131 What is the area? ’:::; 130 49 Iis within 10 of 2 square number \/
) _(100) J
Round fo the + =360 49 cm x 49 cm l XCvi XIv o
nearest 100 300 \.ﬁ.} 311 - 2401 em? 96 (14) is within |5 of a cube number /
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50 |

“\ r
Label the number line and draw an arrow to estimate + 10

!

Diameter =

Radius = rnm

° 2 3 4 5 6 7 8 9 o 100mm
(30 to 90) . / = 10cm
— - N
Work out all the
= 1= B0 ] _ Round to the .
—@/ @T 0= 50 nearest unit 5 factor pairs of Circle the fractions
50 9= 25 EE— which are bigger than |gq
) 50 |-100=0.5 Double it 1 1 and 50
12r2 or 123 2 14 1 n
90/+4= (125 — Double it 2 and 25 2 s |s| 4 s nﬂ
— 50 X IO - 500 and add 200 1200
50/:5= 10 — 5 and 10 ,
=) : p N Find half and Tick the true statements
+8= ér2or 6% L 50; x100 =5000 subtract 1200 1300 would be rounded down when X
S or 6.25 — - J rounded to the nearest 10
( )
: : ‘ List the first 10 square numbers and circle is divisible by 8 | $€
Start with BRI o (el any which are between HK() andl00
50 has 4 as a factor | ¢
Divide it by 10 5 DK | 4 9 6 | 25 j
Double your 10 7 8 2 I 10 Il 12 36 49 [ 64 ] [ 81 ] [ 100 ] has more than 2 factor pairs /
answer L )
Subtract 0.9 91 am— W Circle the numbers is a prime number | $¢C
50 +| BO |=100 — ‘ cm —» | larger than
Add 3.5 12 6 — — BO |+34<68| &
. + 950 | = 1000 What is the perimeter :"“; {W']
Multiply it b B : 25 25
o 126 — LI RG A XXXIII D000 32 c roz) X
+ =90 (33) 83
:g:rﬂeds:c;(:he 130 50 7| 40 4 x 50 cm [ DoV ) oo ) is divisible by 3 | €
+ = 180 = 200cm = 2.0m 86 n—(ﬂl—;
Add 200 330 L 5OJ 130 What is the area? J:::; | [130} I is within 10 of 2 square number \/
Round fo the BO |+ 310 |=360 50 cm x 50 cm XV ) xv - N
neapesi 100 300 -~/ - 2500 sz {96} {14} is within |5 of a cube number /
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“\ r
Label the number line and draw an arrow to estimate + 10
5 | | | | | | | | |

(30 to 90) \ %

/Work out all the h

—
- 1= 51 ] _ Round to the .
_ilz @T |0 = 51 nearest unit 5 factor pairs of Circle the fractions

25r1 or 25% which are bigger than |gq

51 . | ,
~ 255 . = Double it and b1

= or S 51 :100= 051 Dousle 1.02 nEEEnn
gH: 3.and 17 2 5 |s| 4 s nu
51

Radius =rnm

Diameter =

or 12.75 5—1‘ 10 = 510 Double it 1220

.= 10rlor 101/5 and add 200
or 10.2 e ~ . Tick the true statements
Find half and
() Hhbl x100=5100 1350
. g = . ubtract 1200 Id b ded d h
B18= 6r3or 63/8 | | — sublrac N | (B e be ropndes dovn vner

[ )
ist the first ircl is divisible by 8
e mullipe of (e List the first 10 square numbers and circle

Start with any which are between K1 andl00

51 has 4 as a factor
Divide it by 10 51 E] 2 (3] 4|5 ¢ | 4 9 6 | 25

% % % |[%x|x x| <| ||[(5B]]

Double your 10 2 7 8 9 10 I 12 36 49 [ 64 ] [ 8 ] [ 100 ] has more than 2 factor pairs
answer . L )
Subtract 0.9 9.3 (=a | =4 ) Circle the numbers 's 2 prime number
§ 51 + 49 = 100 - 51 ‘cm | larger than @ 14 < 68
Add 3.5 - +34<
12.8 N - 1000 What is the perimeter XXV Vi
Multiply it by 51 +1949 |- of this square? 25) 26l 132 < + 52
10 128 p— q XXXIlI "mmr]
= (33) (83)
Round TO the 51 + 39 90 4 pr— | p———— . . P
nory x 51 cm TXRRVI TXXN B1 | is divisible by 3
nearest 10 130 ,—\+ 50 - 204cm = 2.04m (86) 72) | .
Add 200 330 L 51 ) 129 - What is the area? ’:::; [150} o) | |is within 10 of 2 square number
Round to th + =360 51 cm x 51 cm XCVI Xiv .
n::Pnes' c.;{me 300 51 309 e (96) (14) is within 15 of a cube number

© Eastpoint, NR32 2EX www teachingconcepts.com  For best results, use Show-me slim drywipe pens and Show-me mini foam erasers. RRB6A



“\ r
Label the number line and draw an arrow to estimate + 10

5 2 } | 1 Radius =rnm

Diameter =

° 1 2 3 4 5 6 7 8 9 lo
(30 to 90)  © J
52 = 1= 52 Round to the Work out all the )
— 92 J+10= 5.2 nearest uni 5 factor pairs of Circle the fractions

22= 26 which are bigger than |oq

2 52 +100=0.52 Doubleit 1.04 tand 92 L2 (4 B
22+4= 13 — Double it 2and 26 T > ! 4 > '
= 52 | x 10 = 520 1240

52 —

10r2or 10 2/5 and add 200

— or 10.4 : - . Find half and Tick the true statements
52 -8 = 6r4 or 6? L 52 ] X |00 =5200 subtract 1200 1400 would be rounded down when
Sl or 6.5 - e 4 rounded to the nearest 10

s ™
ist the first ircl is divisible by 8
is 2 mulfiple of (circle) List the first |10 square numbers and circle

Start with any which are between B2 andl00

52 has 4 as a factor
Divide it by 10 .2 @ 3 [:4 > |8 | 4 9 13 25 j

Double your 10.4 7 8 9 10 I 12 36 49 [ 64 ] [ 8 ] [ 100 ] has more than 2 factor pairs

answer

NAEIEIEIEIENENEIRN

\. S
Subtract 0.9 95 E\." 48 N —.52 ‘ Circle the numbers is a prime number
= — | th -
Add 3.5 13 — - i , ars:;v a 5L§ (52]+3<se
What is the perimeter
— + = 000 25
l;*(i)ulhply ey 130 2 048 i il S8 x{xxllu DO 3 c "
¥ = 90 (33) —iE3)
Round tfo the 130 52 , 38 4 x 52 cm LXXXVI LXXII is divisible by 3
nearest |0 3 — ]
. - 180 = 208cm = 2.08m 156) {Z2)
Add 200 330 L 52 ) 128 What is the area? ’:::; r1gm o YA Iis within 10 of 2 square number
E::Pﬂeds:c;{:ge 300 52 + 308 =360 52 (;;(;452 zm )‘(qC\;ll {T:; 52 is within 15 of a cube number
— I = cm
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“\ r
Label the number line and draw an arrow to estimate + 10

(30 to 90) \ J
N

B3 1= 53 A — Round to the Work OUf all the
93 j#10= 5.3 nearest unit 5 factor pairs of Circle the fractions

26rl or 263 which are bigger than |gq

53 - | ,

~) or 26.5 53 +|00= Q53 Doubleit 1.06 and 53

?3;4= 13r1 or 13% 2= ) o2 [a] n
= or 13.25 Double it 2 5 |s| 4 s n m
53

Radius = rnm

Diameter =

10r3or 10 3/5 3 x10= 530 4 44200 | 1260

+5=
or 10.6 - ~ . Tick the true statements
— — Find half and
. q = 53 | x100=5300 (ypiract 200| 1450 Id b ded d h
53 8= 6r5or 65/8 | |20 subirac N y N et e e memert T

[ )
ist the first ircl is divisible by 8
e mullipe of (e List the first 10 square numbers and circle

Start with any which are between B3 andl00

53 has 4 as a factor
Divide it by 10 5.3 E] 2|3 458 | 4 9 6 | 25 j
Double your 10 6 7 8 9 10 I 12 36 49 [ 64 ] [ 8 ] [ 100 ] has more than 2 factor pairs

answer

NNERVNRARIRIABNER AR ERIRN

\. S
Subtract 0.9 97 — 5—3\ Circle the numbers is a prime number
§ 53 + 47 = |00 — ‘ cm —» | larger than @ 14 < 68
Add 3.5 - +34 <
13.2 + 947 |= 1000 What is the perimeter ;‘X\; {Wl]
- . = 25 56
:*:)u”lphf it by 132 of this Squar‘e? XXXIII T 132 'C + 52
|+ - 90 (33) (83)
:g:rﬂeds:c;(:he 130 53" 37 4 x 53 cm OOXVT ) OXn is divisible by 3
+ = 180 = 212cm = 2.12m (86) 72
Add 200 330 L 53 ) 127 What is the area? ’:::; | [130} I is within 10 of 2 square number
Round fo the B3 +1307 |=360 53 cm x 53 cm XV ) XV - o
nearest 100 300 \ J - 2809 cm? (96) (14) is within 15 of a cube number
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“\ r
Label the number line and draw an arrow to estimate + 10
5 | | | | | | | | |

° 1 2 3 4 5 6 7 8 9 o

(30 to 90) \ y

Radius = rnm

Diameter =

— 4 ™\

s = 54 . _ Round to the Work OL”: all the
g o4 |- |0 = 5.4 nearest unit 5 factor pairs of Circle the fractions

—— hich are bigger than

2= 27 — W 39 100
2a 54 |.100= 0.54 Double it 1.08 1 and 54
54, 132 or 3% o o2 el [
54). . 10r4or 10475 x10 = and 2dd 200 3 and 18
= or 10.8 : - ~ 100 = Find half and Tick the true statements
54 + 8= 6ré or 6% L 54J X _5400 subtract 1200 1500 6 and 9 would be rounded down when
— or 6.75 — - J rounded to the nearest 10

Start with

i 3
54 | ‘ : List the first 10 square numbers and circle is divisible by 8
is a multiple of (circle)

any which are between 54 and |00

[|][2][3] * ° E] | 4 9 I 25 @hasﬂiasafacfor

Divide it by 10 b4

\ :
Double your 10,8 ‘ 7 8 E] 10 I 12 36 49 [ 64 ][ 8 ][ |00] has more than 2 factor pairs

X
X
answer L )
Subtract 0.9 99 — — Circle the numbers -ﬂ is a prime number | $¢
Add 35 L 54_,+ 46 = 100 — 54 ‘ cnm ———» Iarﬁer‘ than @ + 34 < 68 x
‘ 13.4 + 946 |- 1000 What is the perimeter Xxv TVi
l;*(i)u”iply T by 134 of this square? ;:::” el 132 c +52| &
)
+ = 9Q (33) 83
Roupnd 'fc;othe 130 ﬁ 36 4 x 54 cm LXXXVI ]m is divisible by 3 | 3/
e + = 180 = 216cm = 2.16m (86) Z2
Add 200 330 L 54J 126 What is the area? ?::; | [130} I is within 10 of 2 square number /
L o
Round fo the + =360 54 cm x 54 cm XV ) X [ ] "
n:ar\neﬂ c;g(] 300 gﬁ, 306 - 2016 cm? (96) (14) 54 is within 15 of a cube number /
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-

Label the number line and draw an arrow to estimate + 10

} l Radius =rnm

Diameter =

110mm
= 1lcm

55

(30 to 90) \ )

] /Work out all the
1= B ) _ Round to the .
5_5; 55 =10= 55 nearest unit 5 factor pairs of a Circle the fractions
Bb5|-2 = 27r1 or 273 PR EEE— which are bigger than |gq
= or 27.5 55 100= 0.55 Double it 11 1and 55 — —
Bh -+ 4= 1313 orl3s 5 and 11 L2 ' -
— i
— or 13.75 55, o= 550 Doublet 1300 2 5 [s]| 4 s n u
and add 200
99°°- U Tick the true stat t
— i ) Find half and ic e True sTalemenls
55 x100=5500 ¢ 7 | 1550
55 +8= 6r7 or 67/8 ) subtract 1200 would be rounded down when X
B o / rounded to the nearest 10
r . iole of (circl ] [List the first 10 square numbers and circle is divisible by 8 | €
Start with Is a multiple of (circle) any which are between BB andl00
55 has 4 as a factor
Divide it by 10 55 “ Jz 3 a]s]s | 4 9 6 | 25 :] x
Double your 11 ‘ 7 8 9 10 I 12 36 49 [ 64 ] l 8 l [ 100 ] has more than 2 factor pairs | ¢
answer L — )
i i b
Subtract 0.9 101 ﬁ\ 45 ?“‘ Circle the numbers 's a prime number | 3
+ = 100 — larger than -55
S m : +34 <68
Add32 13.6 55 45 |- What is the perimeter XXV LvI 2 ) x
Multiply it by + 9 = 1000 : ; (25)
10 136 — i i SR XXX | OXXXIn ) 132 < +52| X
+ =90 (33) 83
Eg:rnedsifﬁ(:he 140 E 35 4 x 55 cm LXXXVI LXXII is divisible by 3 | 3¢
+ 1 = 180 = 220cm = 2.2m {86l _J \_{72) J
Add 200 340 L 55J 25 What is the area? ?::; 130 is within 10 of a square number \/
o \ [ l
Round to the + =360 55 cm x 55 cm [ Xcvi ) xwv -
nearest 100 300 55 305 - 3025 cm? (96) (14) BB |is within 15 of a cube number /

© Eastpoint, NR32 2EX www teachingconcepts.com  For best results, use Show-me slim drywipe pens and Show-me mini foam erasers.
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“\ r
Label the number line and draw an arrow to estimate + 10
56 } | l | | | ' | |

(30 to 90) \ )

Radius = mm

Diameter =

1 2

Work out all the

—
1= b6 ] _ Round to the .
_% @T |0 = 56 nearest unit L factor pairs of Circle the fractions

56 29= 28 EE— which are bigger than |oq

. = ouble i 1 and 56
AT 56 =100= 0.56 Double it 1.12 o I ' — '
%‘ %10 = 560 Double it 1320 an 2 5 5 4 5 n ﬂ

11r1 111/5 d add 200
6:s= o MY ndedd? 4.and 14

or 112 B Tick the t fat t
~ _ Find half and ick the true statements
-8= 7 L 56,, x 100 = 5600 subtract 1200 1600 7 and 8

56 would be rounded down when
_ (N 4 rounded to the nearest 10

h
56 |- ‘ : List the first 10 square numbers and circle is divisible by 8
is a multiple of (circle)

S
S

Start with any which are between B andl00

5 has 4 as a factor
Divide it by 10 5.6 :]' 3 [:4 > | ¢ | 4 9 6 25 j
Double your 11 2 7 l 9 10 I 12 36 49 [ 64 ][ 8 ] [ 100 ] has more than 2 factor pairs

answer
\. S

ANIANEERLER AR NN NANE,

Subtract 0.9 10.3 e Circle the numbers 's 2 prime number
dd 3 s 13 8 § 56J+ 44 = |00 - 56 ‘ cm —» | larger than @ + 24 < 68
‘ . _ What is the perimeter XXV LvI
Multiply it b + 944 |= 1000 : (25) (56)
!Ou Py 1T RY 138 of this square? XXXIII XXX 132 < * s
+ =90 (33) (83)
Round to the 140 56 34 4 X 56 cm LXXXVI W is divisible by 3
nesres 10 =) 224cm = 2.24m @) J( (72
_ =] chm = 2.
Add 200 340 L 56)+ 124 = 180 What is the area? J:::; 130 is within |0 of 2 square number
) s_t_}_a
Round to the + =360 56 cm x 56 cm l XCvi l Xiv L
n:ar\nes' C}{m 300 56 | 304 - 3136 em? (96) (14) is within |5 of a cube number

© Eastpoint, NR32 2EX www teachingconcepts.com  For best results, use Show-me slim drywipe pens and Show-me mini foam erasers. RRB6A



\ '
Label the number line and draw an arrow to estimate 210

57 } _ l Radius =rnm

Diametfer =

° 1 2
3 4
(30 to 90) \ S 6 7 8 9 N
57 1= 57 a; 0= 57 Roundfothe T Work out all the
’ . t uni fact
57 - 28r1 or 281 nearest unit actor pairs of Circle the fractions
or 28 5 57 ‘ 100= _ which are bigger than |59
— =100= 057 Doubleit 100
57+ 4- 14r1 or 14% 7 114 1 and 57 — ——]
2/ or 14.25 52 Souble i oz e s
.. lr2or112/5 x10=9570 4 4200 | 1340 3and 19 N S R n u
O7**" o114
— . | 57 = Find half and Tick the t
57 8= 7rl or 71/8 97 |x100=5700 (yyisct 200 | 1690 e frue stafements
— wolld be rounded d h
, ‘ \ Y Counded Toine e 10| X
Slart with - is a multiple of (ci List the first 10 square numbers and circl Is divisi
57 Iple of (circle) any which are between 57 aiu::IIt)':(:JmC : s dvble T X
Divide it by 10 l | I 2 [ 3 ] 4 | 5 | 6 ]
Soutie your 57 : : | 4 9 6 5t B7 has 4asafactor | §¢
9 o [ 1|12
answer 114 | 36 49 [ 64 ] [ 8l ] [ 100 ] has more than 2 factor pairs X
J
Subtract 0.9 105 ——
. 57 + 43 - 100 57 “‘ Circle the numbers is a prime number x
Add 3.5 14 \ J — [ cm — | larger than
Multiply it by 140 + 943 = 1000 What is the perimeter TX\; (RY]] [:57]"' 34<68)| §¢
0 of this square? 25 (56)
3
Round to the 140 57 + 33 - 90 K{J;P;I]II L}(::lll 132 -: +52| ¢
t - )
nearest |0 P— 4 x 57 cm OOV LXXII is divisible by 3 \/
Add 200 340 B7 |+ 123 |= 180 = 228cm = 2.28m (86) 72 y
. J What is the ? XXIX C ]
area (29) 100 is within 10 of a square number
Round to the + =36 \SSE =]
nearest 100 300 7 303 |=3¢0 57 cm x 57 cm XCVi XIV
SR = 3249 cm? (96) (14) is within |5 of a cube number ‘/

© Eastpoint i
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\ s ~
Label the number line and draw an arrow to estimate + 10

5 8 } | | 1 | : | Radius =rnm

Diameter =

0 1 2 3 4 5 6 7 8 9 i
(3010 90) )
—_— /
Work out all the
58 1= bH8 ) _ Round to the
— 58 - |0 - 58 nearest unit 6 factor pairs of Circle the fractions
58|.2= 29 — which are bigger than |oq

_ ) - 58 |=100= 058 Double it 116 1 and 58 7
~= or 145 =a ) Double it an 2 5 |s| 4 5
1ir3 or 113/5 58 x10= 580 , Ui4200 | 1360 4L

58| s -
or11.6 Find half and Tick the true statements

r58ﬁ\ +8= 7r2 or 7% 58 J x 100 = 5800 subtract 1200 1700 would be rounded down when

or7.25 — - / rounded to the nearest 10

-

3
_ _ : List the first 10 square numbers and circle is divisible by 8
Start with 's a multiple of (circle) any which are between K8 andl00
58 has 4 as a factor
Divide it by 10 58 [ || z l 343 e | 4 9 6 | 25 :]

Double your 11.6 ‘ 7 8 9 10 I 12 36 49 [ 64 ][ 8 ] [ 100 ] has more than 2 factor pairs

answer

Subtract 0.9 10 7 "Eao | = | Circle the numbers 's 2 prime number
: 58 +| 42 =100 58 | A

e 14z | |2 58, [CEEE o
. XXV LVI

%% x| %|[%x|x % %

B What is the perimeter
Multiply it by + 942 |= tooo f thi ? 24 L 132 <+ >
10 142 p— ot This square XXXIII LXXXIII
+ = 90 (33) 83

Round 1To|0the 140 2 32 4 x 58 cm LXXXVI LXXII is divisible by 3
e Bglt 122 - o - 232cm = 2.32m (86) )
Add 200 J - What is the area? XXIX | C I m ithin 10 of b

340 - {29) [100} - 15 wilnin oT a3 square number
Round to the + =360 58 cm x 58 cm XCVI XIV C] -
n;:.\a PneSI C;OO 300 58 302 - 3364 cm? (96) (14) 58 is within |5 of a cube number
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“\ r
Label the number line and draw an arrow to estimate + 10

59 } | | | | | l | | Radius =rnm

Diameter =

° 1 2 3 4 5 6 7 8 9 0
(30 to 90) \ J
— — | N\
s1= 59 o Round fo the Work out all the
) 59 |+10= 59 newrestont 6| || focor rore | 5g] | [Ciete the sraction
59 -2 = 29rl or 293 PR S which are bigger than |gq
~I) or 295 59 |-100=059 Double it 118 1 and 59
5g. - 1403 oridd s 2 ' o
~7 or 1475 p— Double it 2 5 5| 4 5
?9 .. llrdor114/5 2 x10=390 444200 | 1380 ﬂ
or 118 ) 100 Find half and Tick the true statements
(A X
29 8= 7p3o0r 73/8 \5_9 ] =5900 subtract 1200 1750 L y wcuLdozidreodu?:?ﬁedzz;;rﬁg

-~

h
_ ‘ : List the first 10 square numbers and circle is divisible by 8
Start with 's a multiple of (circle) any which are between BQ andl00
59 has 4 as a factor
Divide itby 10| 5.9 ()23 4]s s | 4 9 6 | 25 j
Double your 11 7 8 9 10 I 12 36 49 64 81 100 has more than 2 factor pairs
s || | GO0

answer

Subtract 0.9 10 9 — — Circle the numbers is a prime number
: 59 +| 41 =100 59 | e

Add 3.5 14 4 — cm —— B9 |+ 34 <8
. XXV LVviI

NENEIE IR IRNE IR IR AR

_ What is the perimeter

l;*(‘l)ul‘riply it by 144 + 941 - 1000 of this square? ;:::” L:iillll 132 c + 52
Round to th BHO +| 31 |=9% (33) 83
ng::es, c;o ¢ 140 — 4 x 59 cm ORXXuT )| oo is divisible by 3

+ = 180 = 236cm = 2.36m (86) 72
Add 200 340 L 59J 121 What is the area? ’:::; | [130} I is within 10 of 2 square number
Round fo the + =360 59 cm x 59 cm XCVi Xiv L
nearest 100 300 \ 59 ) 301 - 3481 cm? (96) (14) is within 15 of a cube number

© Eastpoint, NR32 2EX www teachingconcepts.com  For best results, use Show-me slim drywipe pens and Show-me mini foam erasers. RRB6A



Radius =rnm

Diameter =

“\ r
Label the number line and draw an arrow to estimate + 10
60 |

0 1 2 3 4 5 6 7 8 9 0
(30 to 90) \ /
—— 4 N
Work out all the
1= 60 ] _ Round to the .
6_0} 60 +10= 6.0 rcarestunit 6 factor pairs of Circle the fractions
60 +2= 30 H 060 Dousle i f—\l 20 1 and 60 which are bigger than |oq
- = ouble i
T Double it 3and 20 2 5 |s| 4 s n
; 60 | xj0= 600 et [ 1400 ]
+5= 12 — 4and 15
- N _ Tick the true statements
= 1 _ Find half and 5and 12
6! H% g = 7r4 or 73 \60 . x 100 = 6000 subtract 1200 1800 6 and 10 would be rounded down when
or75 _ e an J rounded to the nearest 10

-~

h
_ ltiole of (circl List the first 10 square numbers and circle is divisible by 8
Start with e mdliiphe e el any which are between G0 andl00
60 has 4 as a factor
Divide it by 10 60 [ '][2][3][4][5][6] | 4 9 16 25
Double your 12 O 7 8 9 [ 36 49 [ 64 ][ 8l ][ 100 ] has more than 2 factor pairs

answer

\. S

Subtract 0.9 11 1 — ) Circle the numbers
: 60+ 40 w0 | .| 60 . |iarger than| 60 |

Add 3.5 14 6 — cm araer Than @ +34 <68
o XXV LVI

is a prime number

LI % % [ %x | %

What is the perimeter
— + 940 = 1000 (25) (56)
Mulfiply it by of this square? s 132 < + 52
10 146 p— qua XXXIII XXX
Round to th + =90 2 ——
ound to the 150 60" 30 4 x 60 cm o) (T s divisible by 3
neares r—\+ - 8o = 240cm = 2.4m (86) (72)
Add 200 350 L 6OJ 120 - What is the area? XXIX ¢ 60 Iis within 10 of 2 square number
60+ 300 60 cm x 60 —~T
Round to the + =360 cm x 60 cm o
nearest 100 300 2600 e (96) (14) is within 15 of a cube number /
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“\ 'S

61 |

Label the number line and draw an arrow to estimate + 10

Diameter =

0 1 2 3 4 5 6 7 8 9 0
(30 f0 90)
— —_—— 4 N
= R dto th Work out all the
61; - 61 61 |+ |0 = 6.1 n::r‘nesi ?_:nife 6 factor pairs of
61)+2- 30rl1 or 30% —
et or 30.5 61 - 100 =0.61 Double it 1.22 1and 61
15rl1 or 15%
61+:4= 4 I _
— or 22 61 |xj0=610 Dovtled | 1420
g1 5= 12rioriz2/s x10= and add 200
— o 61 |x100=6100 FndMeffand | 1850
ﬂ +8= 7r5 or75/8 ) subtract 1200 N )
(" '
: : . List the first 10 square numbers and circle
Start with 's a multiple of (circle) any which are between 61 and |00
Divide it by 10 6.1 E] 21340 | 4 9 6 | 25
Double your 7 8 9 10 I 12 36 49 64 8l 100
answer 122 \ ) [ ][ ] [ ]
Subtract 0.9 113 — Circle the numbers
§ 61 J+ 39 = 100 — 61 ‘ cm —» | larger than
Add 3.5 14 8 :
. What is the perimeter XXV LvI
Multiply it b + 939 |= 1000 P (25) (56)
10 Py 148 p— of this square? XXX | (D00 )
+ - 90 (33) (83)
:g: rneds: c;ot e 150 “—-"_61 23 4 x61cm DXXXVI LXXII
1 + 11 = 180 = 244cm = 2.44m (86) _{EI_J
Add 200 350 L 6 ) 9 What is the area? XXIX C
T (29) __(100)
Round to the + =360 61lcmx 61cm XCVI Xiv
nearest 100 300 ‘-ﬁ’ 299 = 3721 cm? __(%6) J (14)

Radius = mm

Circle the fractions

which are bigger than |oq

vz a0 (3] ]e
25545

Tick the true statements

would be rounded down when
rounded to the nearest 10

is divisible by 8

61 has 4 as a factor

has more than 2 factor pairs

is a prime number

@+34{68

132 <+52

is divisible by 3

61 Iis within 10 of a square number

is within |5 of a cube number

R Tx s x (< x [x [ x <] |G
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' '

Label the number line and draw an arrow fo estimate + 10

62 | | 3

Radius =rnm

Diameter =

0 1 2 3 4 5 6 7 8 9 0
(30 to 90) \ )
— p N
1= 62 o Round to the Work out all the
62 @T 0= 6.2 nearest unit 6 factor pairs of Circle the fractions

62 -2= 31 PR | 1 and 62 which are bigger than |oq
— - 62 +100=0.62 Poublet 124 5 [ . n
62| 4= 15r2 or 15 3 or > and 31 e ' | | i
=) 15.5 TR Double it 2 5 |s| 4 s n
625 - 12r2 or 12 2/5 6_2J x10=620 444200 | 1440
| or 12.4 SUm Find half and Tick the true statements
62 +8= /r6 or 7% or \62 ) X |00 =6200 subtract 1200 1900 woulld be rounded down when
—— 7.75 — - J/ rounded to the nearest |0
( h
_ ‘ : List the first 10 square numbers and circle is divisible by 8
Start with :@Is Sl o iEle ) any which are between G2 andl00
62 has 4 as a factor
Divide it by 10 6.2 ' | 234568 | 4 9 6 | 25 j
Double your 7 ‘ 8 9 10 I 12 36 49 l 64 J 8 100 has more than 2 factor pairs
answer 124 L )

Subtract 0.9 115 —— . o e b is 3 prime number
' 62 +| 38 |=100 62 | N
Add 3.5 — cm bl 62 |+34<cs
15 XXV LVI

— 62 + 938 = 1000 What is the perimeter
Multiply it by - of this square? (25) (56) » < s
™y o~
62
| SE—
T, e

10 150 XXX11 LXXXIII
+ 28 = 90 (33) (83)
Round to the 4 x 62 cm LXXXVI LXXII is divisible by 3

nearest |0 150 62 118 = 248cm = 2.48m (86) (72)
+ = 180
Add 200 350 L What is the area? ’:::; [130} 62 |is within 10 of 2 square number

R % [% x| %x|[%x|[%x]|%x]<

62j 298 62 cm x 62 cm
R d to th + = 360 XCVI Xiv . L
n::Pnes' c;{me 400 - 3844 cm? (96) (14) is within |5 of a cube number
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“\ r
Label the number line and draw an arrow to estimate + 10

6 3 } | ' | | | ' ! | | - =mm

Diameter =

0 1 2 3 4 5 6 7 8 9 °
(30 to 90) \ J
) Work out all the )
1= 63 ] _ Round fo the .
63 L9 = 3lrlor 31 3 or G which are bigger than |gq
oY) " 315

63 =100=0.63 Doubleit 1.26 land 63

. _15r3 0r15 3 or L2 (4] I n
6344 575 N 3 and 21 — ;

= : Double it 5 5 .

12r3 or 12 3/5 63 x10 = 630 | yiua200 | 1460 7 and 9 n ﬂ

+5=
,633 or12.6 - ~ Find half and Tick the true statements
63 /x100=6300 yptrset 1200 [ 1990

would be rounded down when
rounded to the nearest 10

63):8= 7r70r77/8 \_ )

-~

h
_ ‘ : List the first 10 square numbers and circle is divisible by 8
. 63 is a multiple of (circle) ]
Start with 63 P any which are between 3 andl00

f ) ) 63 has 4 as a factor
Divideitby 10| 6.3 )2 l 2 I | 4 9 6 | 25
Double your 12 6 7 8 _ 9 A 10 1 12 36 49 [ 64 J 81 100 has more than 2 factor pairs
answer ‘ L J

Subtract 0.9 11.7 T L, ) Circle the numbers 's 2 prime number
: 63 +| 37 |=100 — 63 ‘ larger than

Add 3.5 15.2 — - : 63 +34<e68
. XXV LVviI

ANIANVNAVYEERLEBEEAVNENE AN

What is the perimeter
+ = 1000
Multiply it by 937 of this square? 25) £9) 132 < + 52
10 152 p— q XXXIII LXXXIII
Round to the 63 + 27 =90 3] {83) N
n; P"esi c;o 150 =) 4 x 63 cm LXXXVI LXXII is divisible by 3
+ = 180 = 252cm = 2.52m (86) (72)
Add 200 350 L 63 ) 117 What is the area? ’:::; [130} 63 |is within 10 of 2 square number
Ty
+ =36 3 3 XCVI XIv
E::Pneds:c;{:ge 400 63 297 360 6 . ;r;g(gécmzm (96) (14) @ is within 15 of a cube number
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“\ 'S

64 |

Label the number line and draw an arrow fo estimate + 10

Diameter =

0 1 2 3 4 5 6 7 8 9 0
(30 to 90) \ /
) — | N
Work out all the
4 1= 64 A Round to the .
—6_) @T |10 = 64 nearest unit 6 factor pairs of Circle the fractions
64 9= 32 EE— which are bigger than |gq
= " _|00 0.64 Double it 1.28 1 and 64 . n
4 | | 3
+ 4 = 16 2 Clnd 32
S 64 _ 640 Double it 1480 ! 4 5 '
oo l2rdor124/5 x 10 = and add 200 4and 16
"7 orl2 :
— or 12.8 64 ) x 100 = 6400 Find half and [ 2000 8 and 8 Tick the true statements
64 -8= 8 subtract 1200 would be rounded down when /
Sl - J rounded to the nearest |0
' 64 : ltiole of (circl ) List the first 10 square numbers and circle is divisible by 8 \/
Start with BRI o (el any which are between G4 andl00
( ) ( ) 64 has 4 as a factor
Divide it by 10 6.4 | ][ 2 ) S U B | 4 9 [ 25 j \/
Double your 12 8 7 8 9 10 12 36 49 64 l 8l 100 has more than 2 factor pairs /
answer . L )
Subtract 0.9 11.9 — v o e b is 3 prime number | ¢
§ 64 + 36 = 100 — 6 ‘cm _ » | larger than @ <en|
Add 3.5 - +34 <
15.4 64 |+ 936 = 1000 What is the perimeter XXV LvI
Multiply it by B £ thi ; (25) (56) 32 c .5
10 154 p— ot this square XXXIII LXXXIII X
64 + 26 = 90 (33) (83)
Round to the 150 , 4 x 64 cm LXXXVI LXXII is divisible by 3 | $¢
nearest 10 P— 256 2 56 (86) (72)
= cm = £.06m
+ = |80
Add 200 350 L 64J 116 What is the area? J:::; [130} 64 Iis within 10 of 2 square number /
Round to th + =360 64 cm x 64 cm Xcvi XIvV o
n::Pnes' c.;{me 400 64 296 - 2096 cm? (96) (14) is within 15 of a cube number /

Radius =rnm
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“\ r
Label the number line and draw an arrow to estimate + 10

l Radius =rnm
6 5 } | ' | | | ' | |

Diameter =

° 1 2 3 4 5 6 7 8 9 o 130mm
(30 to 90) \ 4 = 13cm
— — | N
Work out all the
1= 65 . _ Round to the .
6_5) 65 |+10= 6.5 nearest unit 6 factor pairs of Circle the fractions
52 - 32rlor 32 3 — which are bigger than |gq
2 or 32.5 65 -100=0.65 Double it 1.3 1and 65
65+ 4 - lérlor 16 3 5 and 13 o2 4] n
Bt or 16.25 65 | 10 = 650 Double it 1500 2 5 |5 4 5 n ﬂ
and add 200
65+5= 13 Tick the t tat t
— e ~ Find half d IC e True stalemenls
65 [x 100 =6500 "< ™72 | 2050
65 +8= 8rlor81/8 ___J subtract 1200 would be rounded down when %
o J rounded to the nearest 10
( 65 | ltiole of (cirel ) List the first 10 square numbers and circle is divisible by 8| &
Start with e mdliiphe e el any which are between G5 andl00
( ) 65 has 4 as a factor X
Divideitby 10| 6.5 B N | 4 9 6 | 25 65
Double your 13 O 7 8 9 10 I 12 36 49 64 8 100 has more than 2 factor pairs X
answer . L )
is a pri ber | K
Sublract 0.5 121 E\“' 35 00 ?‘ Circle the numbers 'S @ prime number
= — _, |larger than -65
) cm 34 <6
Add 3.5 15 6 : : — = 6D +34<e8| X
+ 935 | = i000 What is the perimeter o) (56)
Multiply it b .
o 156 p— o Uil SpUErer XXXIII DO 3 < +52) X
+ =90 (33) (83)
Round to the 160 65 25 4 x 65 cm LXXXVI LXXII is divisible by 3 | 3
nearest |0 ) 260cm = 2.6m (86) (72)
= cm = 2.
+ = |80
Add 200 360 L 65J 115 What is the area? ’:::; [130} 65 |is within [0 of 2 square number \/
Round fo the + = 360 65 cm x 65 cm XCVI XIV -
nearest 100 400 \ 65 J 295 - 4225 cm? (96) (14) is within 15 of a cube number /
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“\ r
Label the number line and draw an arrow to estimate + 10
6 6 } | '. | | | ' Q |

(30 to 90) \ %
N

66 1= 66 _ Round to the /Work oufl all the
66 +10= 6.6 nearest uni 7/ factor pairs of Circle the fractions

+2= 33 which are bigger than |gq

66 ~5
—— - = Double it 1and 66
ey | | (6611007066 1.32 e T b
_ . - or 165 g‘\ _ 660 Double it 1520 an 2 5 5 4 5 n m
665 rLor31/5 x10 = and add 200 3and 22

or 13.2 Find half and Tick the true statements

66 | 6 and 11
66 8= 8r2 or 8 % or \6_6 J x 100 %600 subtract 1200 2100 would be rounded down when

— - 8.25 . J rounded to the nearest 10

Radius =rnm

Diameter =

-~

h
66 |. ltiole of (circl List the first 10 square numbers and circle is divisible by 8
Start with Is a multiple of (circle) any which are between G andl00
( —= 6 has 4 as a factor
Divideitby 10| 6.6 | “ 23] 4|5 [¢) | 4 9 6 | 25

~— | —

( e Y
Double your 13 2 7 8 9 10 I 12 36 49 64 l 8 J l 100 J has more than 2 factor pairs
) \. S

answer

Subtract 0.9 12 3 — - Circle the numbers is a prime number
: 66 + 34 =00 | _ 66 ‘ . th

Add 3.5 15.8 — cm srasrnen 66 +34<e6s
. XXV LVI

N REERIEIRNEREEE

What is the perimeter

o +/934 |= 1000 (25) (56)
l;*(i)ul'rlply it by 158 of this square? v 00 132 < + 52
Round o the 66 + 24 |=9 4 x 66 cm 3) 53) . -
rest 0| 160 | [ = - 264em=26em | | /[P )[R _66] s avisbie by 3

+ = |80
Add 200 360 L 66 ] 114 18 What is the area? J:::; [130} 66 Iis within [0 of a square number
o
66 cm x 66 cm
= XCvi Xiv

E::Pneds:ﬁ{:ge 400 66 + 294 360 = 4356 cm? (96) (14) 6 is within |5 of a cube number /
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“\ r
Label the number line and draw an arrow to estimate + 10

l Radius =rnm
6 7 } | | | | | ' | |

Diameter =

0 1 2 3 4 5 6 7 8 9 0
(30 to 90) \ /
— - N
Work out all the
1= 67 . _ Round to the .
67 @T |10 = 6.7 nearest unit 7 factor pairs of Circle the fractions
33rlor 33 3 or — which are bigger than |gq
+2 = ——
g 335 67 -100=0.67 Double it 1.34 1and 67
.42 l6r3oriéior Sz e n
67:4= 1575 yva Double it 2 5 |s| 4 s ﬂ
— - 67 | « 10 = 670 1540
67 L5 = 13r2 or 13 2/5 ) and add 200
or13.4 ) : Tick the true statements
— — _ Find half and
67 +8= 8pr3or83/8 . 67J x 100 =6700 subtract 1200 2150 would be rounded down when %
Al _ - J rounded to the nearest |0
( 67 . : ‘ ) List the first 10 square numbers and circle is divisible by 8 | 3
Start with BRI o (el any which are between 67 and |00
( ) 67 has 4 as a factor | 3¢
Divide it by 10 6.7 R N I I I | 4 9 16 25 j
Double your 13 4 7 8 9 10 I 12 36 49 64 8 100 has more than 2 factor pairs | 3
answer . L )
Subtract 0.9 12.5 — 7 Circle the numbers is a prime number /
§ 67 +| 33 |=100 -— ‘cm | larger than @ vi<es| X
Add 3.5 - +34 <
16 What is the perimeter XXV LvI
+ 933 |= 1000 i (25) (56)
Multiply it b .
“ultply it by 160 of this square? o oo 2<[ 67 )+52| X
+ =90 (33) (83)
Round 'TC;thE 160 67 23 4 x 67 cm oo Y[ oo is divisible by 3 | X
neares Tk - 186 = 268cm = 2.68m e) J|_(72)
Add 200 360 L 6 z ) 113 - What is the area? ’:::; [130} 67 Iis within [0 of 2 square number \/
)
Round to the + =360 67 cm x 67 cm Xcvi Xiv [ l L
nearest 100 400 é 7 293 _ 4489 cm? [ (96) (14) 67 is within 15 of a cube number /
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68 |

“\ r
Label the number line and draw an arrow to estimate + 10

Diameter =

(30 to 90) \

68

34

13r3 or 13 3/5
or 13.6

m
@+4= 17
68

8rdor 8 3

Start with

or 8.5

Divide it by 10

6.8

Double your
answer

13.6
12.7

Subtract 0.9

Add 3.5

16.2
T:)ul‘riply it by 162

Round to the
160

Add 200

nearest |0
360

Round to the
nearest |00

400

Radius =rnm

Circle the fractions

which are bigger than |gq

vz a0 (3] ]e
25545

Tick the true statements

-~

2 3 4 5 6 7 8
4 )
Round to the Work out all the
68 +10= 6.8 nearest unit 7 factor pairs of
68 |-100=0.68 Double it 1.36 1 and 68
N bowble it [ aes ) 2 and 34
ouble |
68 | x10= 680 2ol | 1560 it
(2 _ Find half and
— . J/
_ ltiole of (circl | List the first 10 square numbers and circle
BRI o (el any which are between 68 and 100
| ] 2 ) 3 L ! ) > ¢ | 4 9 16 25
T8 R 3% | 49 | 64 || 81 || 100

m would be rounded down when
rounded to the nearest 10

is divisible by 8

68 has 4 as a factor

has more than 2 factor pairs

J

68 +| 32 |= 10
+ Q32 |[= 1000
68 + 22 =%

= |80

68 + 112

68 +|292 =3¢

is a prime number
oA ) Circle the numbers
— 68 ‘ cm —» | larger than
68 +34<es8
What is the perimeter XXV LvI
, (25) (56)
of this square? o DOON 132 c + 52
(33) (83)
4 x 68 cm LXXXVI LXXII is divisible by 3
= 272cm = 2.72m (86) (72)
What is the area? XXIX [ c 68 |is within 10 of 2 square number
(29) (100)
XCVi Xiv
68 cm x 68 cm 96 14 68 is within 15 of a cube number
= 4624 cm? (96) (14) [ ]

[ % % % |%x || |% %

© Eastpoint, NR32 2EX www teachingconcepts.com  For best results, use Show-me slim drywipe pens and Show-me mini foam erasers.

RRB6A



69

“\ r
Label the number line and draw an arrow to estimate + 10

Diameter =

Radius =rnm

0 1 2 3 5 6 7 8 9 0
(30 to 90) \ g
— - N
Work out all the
69 - 1= 69 Cim Round to the |
) 69 [+10= 6.9 carest unit 7 factor pairs of Circle the fractions
69 .- 34rlor 34 3 or which are bigger than |gq
—7) 7 345 69 +100= 0.69 Douwleit | 138 1and 63
17l or 17 % or vz a0 (3] ]e
69 +4=725 Double if —_—— 3 and 23 T s : p . nﬂ
— . ouble |
69 - 5= Bréor134/5 69 x10= 690 1 4200 | 1980
iV or 13.8 - ~ _ Tick the true statements
— — _ Find half and
69 -8= 8r5o0r 85/8 L 99J X |00 _6900 subtract 1200 2250 L y would be rounded down when X
rounded to the nearest |0
' . Hiole of (circl ] [List the first 10 square numbers and circle is divisible by 8 | 3C
Start with BRI o (el any which are between 69 andl100
f f ) 69 has 4 as a factor | 3¢
Divide it by 10 6.9 | ] i I I | 4 9 6 25 j
Double your 7 8 9 10 1 12 36 49 64 81 100 has more than 2 factor pairs | €
answer 138 L )
Subtract 0.9 129 — W Circle the numbers is a prime number | 3€
69 + 31 = 100 - ‘ cm —» | larger than Dég %
Add 35 L J + 34 <68
16.4 + 931 |= 1000 What is the perimeter :(x\; {W'l
Multiply it b } ! 2 >
o ply 1t by 164 of this square? XXXI1I LXXXIH 32 < RS
+ =90 (33) (83)
Round to the 160 69 , 21 4 x 69 cm LXXXVI LXXII s divisible by 3 | v/
nearest [0 — 276cm = 2.76m (86) (72)
= cm = 2.
69 *+/ 111 =180 : o [ C |
w ? is withi
Add 200 360 L ) hat is the area (29) (100) 69 is within 10 of a square number \/
R tot + = 360 69 cm x 69 cm Xcvi Xiv
n::r‘nedsi C.;O(I;\e 400 \ 69 ) 291 =C4761 cmg (96) (14) is within 15 of a cube number /
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“\ 'S

70

Label the number line and draw an arrow to estimate + 10

Diameter =

2 3 4 5 6 7 8 9 0 140mm
(30 to 90) \ / = 14cm
—— 4 N
Work out all the
=1= 70 ] _ Round to the .
7—_0) @T |10 = 7 nearest unit 7 factor pairs of Circle the fractions
70 2= 35 which are bigger than |gq
¥ 1 70 =100=0.7  Double i 14 1and 70 RN ﬂ
17r2 or 17 3
7O+4=or'175 2 “‘ Double it 2.and 35 2 s ! 4 S '
- ~ 70)yl0= 700 Pewiet [ 1500 L
70 5= 14 _ and add 2 5 and 14
- ~ _ Tick the true statements
—— Find half and 7 and 10
3 — an
70 + 8= 8réor8 3 or L 7OJ x 100 7000 subtract 1200 2300 would be rounded down when
Sl 8.75 — - J rounded to the nearest |0 X
( 70 : ltiole of (circl ) List the first 10 square numbers and circle is divisible by 8 | $¢
Start with BRI o (el any which are between 7() andl00
( ( ) ( ) 70 has 4 as a factor
Divide it by 10 7.0 | ] 0 N P U B | 4 9 16 25 j x
Double your 7 8 9 10 I 12 36 49 64 8 100 has more than 2 factor pairs /
answer 140 = )
Subtract 0.9 131 %\4' 30 00 T‘ Circle the numbers is a prime number X
= PR _ 4 | larger than
Add 3.5 1 P— - ’ 70 +34<¢8| X
6.6 + 930 |= 1000 What is the perimeter :"“; {W'l
Multiply it b - : 25 36
o 166 0+ 20 S ooan | poon 32 ‘ i e
+ - 90 (33) (83)
:g::eds:fi;(:he 170 7 , 4 x 70 cm LXXXVI LXXII is divisible by 3 | 3
70 + 110 |=180 = 280cm = 2.8m (86) (72)
Add 200 370 L ) What is the area? J:::; [130} 70 Iis within [0 of 2 square number /
Round to the 70 +1290 |=360 70 cm x 70 cm XCvi XIV ﬁ L
nearest 100 400 - ) - 4900 cm? (96) (14) 70 is within |5 of a cube number /

Radius = rnm
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/1 |

\ s
Label the number line and draw an arrow to estimate + 10

Diameter =

0 1 2 3 4 5 6 7 8 9 10
(3010 90) /
— 4
Work out all the
1 1= 71 ) _ Round to the .
7_, 71 - |0 = 7.1 nearest unit 7 factor pairs of m Circle the fractions
711:2- 35rlor 35 3 - which are bigger than |gq
a2y or 355 71 -100=0.71 Double it 142 land 71 — —
PINEGELE: o2 e [s]fs
it or 17.75 71 10 = 710 Double it 1620 2 5 |5 4 5 n u
71 -5 = 14rlor 14 1/5 , and add 200
— or 14.2 ,71 S 100 =7100 Find half and 2350 Tick the true statements
71 +8= 8r70r87/8 L ) X - subtract 1200 would be rounded down when /
— - J rounded to the nearest [0
( _ ltiole of (cirel | List the first 10 square numbers and circle is divisible by 8 | ¢
Start with BoEIiRE e (Ereky any which are between 7] andl00
( 71 has 4 as a factor
Divide itby 10| 7.1 J2a s e s s | 4 9 | 16 | 25 1) x
Double your 7 8 9 10 I 12 36 49 64 8 100 has more than 2 factor pairs | ¢
answer 142 L J
Subtract 0.9 133 —_—— — Circle the numbers is a prime number /
k 71+ 29 |=10 71| larger than @+ ol x
Add 3.5 - <
16.8 + 929 |- 1000 What is the perimeter r’“; {'-\"}
. . = 25 56
';'(’j””'P'V it by 168 of this square? woun (oo 132 -: 52| X
s - 90 (33) (83)
Round fo fhe 1 O 71 , 19 4 x71cm LXXXVI LXXII is divisible by 3 | 3¢
nearest 10 7 — = 284cm = 2.84m (86) (72)
+ = |80 - -
Add 200 370 L 71 J 109 What is the area? ?::; [130} 71 Iis within 10 of a square number \/
Y
Round to th + =360 7l1cm x 71 cm XCvi XIV -
n;:\al.lr\nesI c.;ooe 400 71 289 - 5041 cm? (96) (14) is within |5 of a cube number /

Radius =rnm

© Eastpoint, NR32 2EX www teachingconcepts.com  For best results, use Show-me slim drywipe pens and Show-me mini foam erasers.

RRB6A



/2

“\ 'S

Label the number line and draw an arrow to estimate + 10

Diameter =

0 1
(30 to 90) \
72 1= 72
72|+2= 36
72 +4= 18
=] . _ 14r20r142/5
7257 4144
72)+8= 9
Start with
Divide it by 10 7.2

Double your

answer

Subtract 0.9

14.4
13.5

Add 3.5 17
T:)ul‘riply it by 170

Round to the

nearest |0

170

Add 200

370

Round to the
nearest |00

400

_______

72 :10= 7.2

72 =100=0.72 Doubleit

72| x10= 720

72| x100=7200

4 5 6
Round to the
nearest unit 7
1.44
Double it
and add 200 1640
Find half and
subtract 1200 2400

/Work out all the

N

factor pairs of

land 72
2 and 36
3 and 24
4 and 18
6 and 12
8 and 9

Radius = rnm

Circle the fractions

which are bigger than |oq

vz a0 (3] ]e
25545

Tick the true statements

-~

is a multiple of (circle)

h!

List the first 10 square numbers and circle

would be rounded down when
rounded to the nearest 10
is divisible by 8

any which are between 72 andl00
) l ( ) 72 has 4 as a factor
[ | [ 2 3 L 4 J > ¢ I 4 9 16 25 \/
7 8 l 9 10 I 12 ‘ 36 49 64 8 100 has more than 2 factor pairs /
\. S ™
i i b
fﬁ\ 28 72 ‘ Circle the numbers 's 2 prime number |
| J+ = 100 — em —» | larger than @ ™
What is the perimeter XXV LvI
+ 928 | =000 , i (25) (56)
of This square? XXXIII LXXXIII 3 < "X
+ =90 (33) (83)
72 18 4x72cm LXXXVI LXX1I is divisible by 3 \/
’ ) = 288cm = 2.88m (86) (72)
+ 108 = 180 i ‘ XXIX C
L 72 ) What is the area? (29) (100) 72 |is within 10 of 2 square number \/
+ =360 72 cmx72 cm Xcvi XIv [ l L
\ 72 ) 288 - 5184 crm? (96) (14) 72 is within 15 of a cube number /
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73 |

“\ r
Label the number line and draw an arrow to estimate + 10

Diameter =

(30 to 90) \

73

36.5

36rlor 36 3 or

18.25

18rlor 18 % or

14r3 or 14 3/5
or 14.6

9rlor91/8

Start with

Divide it by 10

7.3

Double your
answer

Subtract 0.9

14.6
13.7

Add 3.5 17 2
Multiply it by

0 172
Round to the

nearest 10 170
Add 200

370

Round to the
nearest |00

400

EHO: 7.3
E+|00=0.73 Double it
73 x10=730

73 |x100=7300

Round to the
nearest unit

Double it
and add 200

Find half and
subtract 1200

7
1.46
1660

2450

/Work out all the

N

factor pairs of

1and 73

-

Radius = rnm

Circle the fractions

which are bigger than |oq

vz a0 (3] ]e
25545

Tick the true statements

/

-~

is a multiple of (circle)

h!

List the first 10 square numbers and circle

would be rounded down when
rounded to the nearest 10
is divisible by 8

X
any which are between /3 andl00
[ | 2 3 4 5 6 | . ; " s 73 has 4 as a factor | §¢
7 8 9 10 I 12 36 49 64 8 100 has more than 2 factor pairs | $¢
\. S
%\ 27 73 ‘ Circle the numbers 's 2 prime number \/
+ = 100 P _ 4 | larger than
o J cm J 73 + 34 < 68 x
i i XXV LvI
+ 927 = 1000 What is the perimeter o) 56)
of this square? XXXIII LXXXIII 132 < +52) X
73+ 17 =90 (33) (83)
| ) 4 x73cm LXXXVI LXXII is divisible by 3| €
73141107 |= 180 = 292cm = 2.92m (86) (72
L ) What is the area? ’:::; [ [130} 73 Iis within [0 of 2 square number \/
)
73 + 287 =360 73 C5I’;\2Xg73 zm ){(S:}I {T:; 73 is within 15 of a cube number /
— B = cm
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“\ 'S

4 |

Label the number line and draw an arrow to estimate + 10

Diameter =

Radius = rnm

0 1 2 3 5 6 7 8 9 0
(30 to 90) \ y
— 4 N
Work out all the
4 1= 74 A Round to the .
—7_/ ET |10 = 74 nearest unit 7 factor pairs of Circle the fractions
74 +9= 37 PR which are bigger than |gq
— 74 :100=0.74 Doubleit | 148 Land 74
74 -4 - 18r2 or 18 % or > and 37 NI n
ST 185 — Double it 2 5 |s| 4 s nﬂ
74 s 14r4 or 14 4/5 74 x 10 = 740 and add 200 1680
' or 14.8 - ~ _ Tick the true statements
— — _ Find half and
74 -8 = 9r2or9 % or \7_4J. x 100 _7400 subtract 1200 2500 L y would be rounded down when /
A 925 rounded to the nearest 10
( _ ltiole of (cirel ) List the first 10 square numbers and circle is divisible by 8 | $€
Start with BRI o (el any which are between 74 andl00
f 74 has 4 as a factor | ¢
Divide itby 10 7.4 [ i ] I | 4 9 l6 | 25 (74)
Double your 14 8 7 8 9 10 I 12 36 49 64 8 100 has more than 2 factor pairs | ¢
answer . L )
Subtract 0.9 13 9 — e Circle the numbers is a prime number | $¢C
. k74 + 26 = |00 — 74 ‘cm _ » | larger than @ i<en| X
Add 3.5 - +34 <
17.4 + 926 |= 1000 | [ MWhat s fhe perimeter v o
Itiply it b B : 25 56
T(i)u e 174 — of this square? o ([~ Doo 32 .: roz) X
= (33) (83)
Round fo the 74+ 16 |=% (74) s s
nearest [0 170 — 4x74cm LXXXVI LXXII is divisible by 3 | 3¢C
+ = 180 = 296cm = 2.96m (86) (72)
Add 200 370 L 74J 106 What is the area? ’:::; [130} 74 |is within 10 of 2 square number \/
Round tfo the + =360 74 cm x 74 cm Xcvi Xiv [ ] .
nearest 100 400 74 | 286 - 5476 cm? (96) (14) 74 is within 15 of a cube number /
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.

b 75
5 Label the number line and draw an arrow to estimate + 10

(30 to 90) \ %
N

/Wor'k out all the
1= 75 . _ Round to the .
—7_5/ @T |0 = 75 nearest unit 7 factor pairs of Circle the fractions

37rlor 37 3 which are bigger than |gq

or 375 75 |=100=0.75H Double it 150 1and 75
18r3 or 18 2 —J ' — S Il L i
4 5 4 ﬂ

Radius = rnm

Diameter =

150mm
=15 cm

3
TT

+ 4 = 3 d 25 -
l5 or 18.75 Double it an 2 5 |5

E x10=750 ,dsdd200 | 1700 5 and 15

75+5= 15

— Find half and Tick the true statements
75 +8= 9r30r93/8 \_7_5) X |00 _7500 subtract 1200 2550 would be rounded down when
. - J rounded teo the nearest 10
4 ™ . e

_ tiole of (circl List the first 10 square numbers and circle is divisible by 8

Start with Is a multiple of (circle) any which are between 75 andl00
f ) ) 75 has 4 as a factor

Divide it by 10 75 [ | 2 (32 i, ¢ | 4 9 [ 25
Double your 7 8 9 10 1 12 36 49 64 81 100 has more than 2 factor pairs

answer 15 L )

Subtract 0.9 14.1 %\ 25 ?‘ T — is a prime number
+ = 100 — _, | larger than
Add 3.5 17.6 — i sxw 75 |+34<68

NENENE AR ZEARNE RE AR

What is the perimeter
— 75 [+1925 |= 1000 i 25 56
ulfiply it by 176 - of this square? x{m}” Uixx]m 32 < + 52
+ =90 (33) (83)
Eg:rﬂeds:c;(:he 180 75 , 15 4 x 75 cm LXXXVI LXXII is divisible by 3
’ 75 |+ 105 | = 180 = 300cm = 3.0m (86) (72
Add 200 380 L J What is the area? ’:::; [130} 75 |is within |0 of 2 square number
)
Round tfo th + =360 75 cm x 75 cm XCvi XIV ﬁ L
n::Pnes' c.;{me 400 75 285 _ B425 om? [ (96) (14) 75 is within 15 of a cube number
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76 |

“\ r
Label the number line and draw an arrow to estimate + 10

Radius = rnm

Diameter =

(30 to 90) \

E+I: 76

E+2 = 38

7—6 +4= 19

76 - s - (1).:)r'115f)2r' 151/5
— ) 1
7_6 .8 = gI‘;or‘9 z or
Start with
Divide it by 10 7.6

Double your
answer

15.2
14.3

Subtract 0.9

Add 3.5

17.8
:*(‘I)ul‘riply it by 178

Round to the
180

Add 200

nearest |0
380

Round to the
nearest |00

400

Round to the

/Work out all the

N

76 +10= 7.6 nearest unit 8 factor pairs of Circle the fractions
which are bigger than |oq
76 +100=0.76 Poubleit 1.52 land 76 n
’ - I 2 | 4 I I 3
-7 Double i 2 and 38 75 |5 4 54"
_ ouble i 1 2 m
76 xlo= 760 and add 200 720 4 and 19
- N : Tick the true statements
_ Find half and
\761 X |00 —76005ub7r‘ac1 1200 2600 would be rounded down when X
_ o J rounded to the nearest |0
' . ltiole of (circl | List the first 10 square numbers and circle is divisible by 8 | 3
BRI o (el any which are between 76 andl00
f ) f ) 7 has 4 as a factor /
['_ 2 ) 3 . ! ) > ¢ I 4 9 16 25
7 8 9 10 1 12 36 49 64 81 100 has more than 2 factor pairs /
\. S
%\ 24 76 ‘ Circle the numbers 's 2 prime number | X
+ = |00
§ ) — cm —» | larger than @ fia<es| X
I i XXV LvI
+ 924 |- 1000 What is ’rIae perimeter o) o)
of this square? — Vv 132 < +52| X
+ =90 (33) (83)
76 14 4 x76 cm LXXXVI LXXII is divisible by 3 | %
( 76 )+ 104 | = 180 = 304cm = 3.04m (86) (72)
L ) What is the area? ’:::; [130} 76 |is within 10 of 2 square number \/
)
76 + 284 =360 76 C5I’;7X676 zm ){(S:}I ::_l:; 76 is within 15 of a cube number /
— S— = cm
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“\ r
Label the number line and draw an arrow to estimate + 10
: ‘ } | l | | | ' I |

(30 to 90) \ %

Radius = rnm

Diameter =

— | N\

Work out all the

—
1= 77 . _ Round to the .
_l ET |0 = 77 nearest unit 8 factor pairs of Circle the fractions

38rl or38 3 which are bigger than |gq

=2 = T
E or 38.5 77 |=100=0.77 Double it 1.54 1and 77
77 < 4= 19r1or 9 % or 7 and 11 oz el _3
SuSh 9.5 77 ) _ 770  Doubleit 1740 2 5 [5| 4 5 4 u
77| 5= 1512 or 152/5  x10= and add 200
or15.4 — : Tick the true statements
— — _ Find half and
77 +8= 9rHor 95/8 L 77J x 100 _7700 subtract 1200 2650 would be rounded down when %
LS _ - J rounded teo the nearest 10
r _ ltiole of (circl ] [List the first 10 square numbers and circle is divisible by 8| 3
Start with e mdliiphe e el any which are between 77 and |00
has 4 as a factor | 3¢
Divide itby 10| 7.7 N R | a | 9 | 16 | 25 (7]
Double your 15 4 7 8 9 10 I I 12 36 49 64 8 100 has more than 2 factor pairs | €
answer . L )
Subtract 0.9 14 5 ? 23 7“ Circle the numbers 's 2 prime number | 3¢
} + = 100 — _ , |larger tha
Add 3.5 — o Sl 77 |+34<es| X
18 + 923 |= 1000 What is the perimeter ;‘X\; {W'l
- . = 25 56
T:)U”Iphf it by 180 of this square? XXXIN LXK 132 c +52| X
s - 90 (33) (83)
:g::eds:fi;(:he 180 77 , 13 4 x77 cm LXXXVI LXXII is divisible by 3| 3
+ = 180 = 308cm = 3.08m (86) (72)
Add 200 380 L 77J 103 What is the area? J:::; [130} 77 Iis within |0 of 2 square number \/
)
Round to the + =360 77 cm x 77 cm Xcvi Xiv [ l .
nearest |00 400 kﬂ.} & - 5929 em? (96) (14) 77 is within 15 of a cube number /
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/8

.

Label the number line and draw an arrow to estimate + 10

Diameter =

Radius = rnm

° 2 3 4 5 6 7 8 9 0
(30 to 90) \ )
— - N
Work out all the
8 s1= 78 ] ) _ Round to the .
L 78 =|0= 78 nearest unit 8 factor pairs of Circle the fractions
78 s9= 39 PR EE— which are bigger than |gq
~5 " 78 |-100=0.78 Double it 1.56 land 78
78 4 - 19r2 or 19 3 or 2 and 39 bz e _3
977 195 g Double it 2 5 |s| 4 s 4 ﬂ
78 s 15r3 or 15 3/5 78 x10=780 and add 200 1760 6 and 13
— or 15.6 3 — 100 Find half and Tick the true statements
788 = 9ré or 9 Z or 78 | X1VU=7800 subtract 1200 | 2700 would be rounded down when | ¢
— 9.75 — - J/ rounded teo the nearest 10
r _ ltiole of (circl ] [List the first 10 square numbers and circle is divisible by 8 | 3¢
Start with BRI o (el any which are between 78 andl00
[ ] ) 78 has 4 as a factor | 3¢
Divide it by 10 7.8 l | z 3 4 3 é | 4 9 16 25 j
Double your 7 8 9 10 I 12 36 49 64 [ 8 100 has more than 2 factor pairs /
answer 15.6 L )
Subtract 0.9 147 (—a ) T‘ Circle the numbers 's 8 prime number | X
' 78 +| 22 |=100 c . | larger than| 78
— m 3er‘ an
Add 3.5 18 2 — 78 |+34<68| &
. + 922 |= 1000 What is the perimeter ;‘:;; {';2}
Multiply it b .
0 Ply 1 BY 182 of this square? XXXIII LXXX1II 132 < +52| X
s - 90 (33) (83)
Round tfo the /8 , 12 4 x78 cm LXXXVI LXXII is divisible by 3 | €
nearest 10 180 — 86 72
78 + 102 |= 180 = 312cm = 3.12m (86) (72)
Add 200 380 L J What is the area? ’:::; [130} 78 Iis within 10 of 2 square number \/
—
Round to the 8 +1282 |=360 78 cm x 78 cm Xcvi XIv - o
nearest 100 400 \ 7 ) - 6084 cm? (96) (14) is within 15 of a cube number /
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79 |

“\ r
Label the number line and draw an arrow to estimate + 10

Diameter =

0 1
(30 to 90) \
79-1= 79
—-al. . _ 39rlor 39 % or
79):2= 395
—_ 19r3 0r19 2 or
+4 =
7_9 19.75
—_ 15r4 or 15 4/5
+5=
79 or 15.8
79 8= 9r70r97/8

Start with
Divide it by 10 79

Double your
answer

Subtract 0.9

15.8
14.9

Add 3.5 18 4
Multiply it by

0 184
Round to the

nearest |0 180
Add 200

380

Round to the
nearest |00

400

Round to the
nearest unit

@40: 7.9

@+|00=O.79 Double it
79 1 10=790

Double it
and add 200

subtract 1200

:79 : % 100 =7900 Find half and

8
1.58
1780

2750

/Work out all the

factor pairs of

N

1and 79

Radius = rnm

Circle the fractions

which are bigger than |oq

I 2 |4
2 5 5

||3
454

Tick the true statements

/

-~

3
is a multiple of (circle)

List the first 10 square numbers and circle

would be rounded down when
rounded to the nearest 10

is divisible by 8

X
X
any which are between 7Q andl00
l | 2 3 4 5 6 | . " s 79 has 4 as a factor | §¢
7 8 9 10 I 12 36 49 64 [ 8l 100 has more than 2 factor pairs /
\. S
i i b
79| 79 Circle the numbers '* 2 prime number \/
79+ 21 (=0 | [ 79 [, |iarger than 79 e
i i XXV LvI
79 + 921 - 1000 What is the perimeter y
, (25) (56)
of this square? XXXIII LXXXIII 3 < RS
+ =90 (33) (83)
79 11 4x79cm LXXXVI LXXII is divisible by 3 | 3€
= 316cm = 3.16m (86) (72)
79 * 101 = 180 What is the ar;ea? XXIX c 79 is within 10 of 2 square number \/
— (29) (100) u )
79 + 281 =360 79: Cf:;:ll?ngm [ )((;:}I ::_l:; 7 is within 15 of a cube number /
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80

.

(30 to 90)

Label the number line and draw an arrow to estimate + 10

Diameter =

1= 80

80

80

I

+2= 40

co
o

:4= 20

:5= 16

+8= 10

Start with

Divide it by 10

8

Double your
answer

Subtract 0.9

16
15.1

Add 3.5 186
Multiply it by

10 186
Round to the

nearest |0 190
Add 200

390

Round to the
nearest |00

400

Radius =rnm

8
10

-~

3
is a multiple of (circle)

List the first 10 square numbers and circle

0 2 3 4 5 6 7 8 160mm
g = 16cm
— | 7 ™
Round 10 1he WOr‘k out B“ ?he
80 +10= 8 nearest unit 8 factor pairs of Circle the fractions
EEE— which are bigger than |gq
80 |-100=0.8  Double it 1.6 1 and 80
2 4
2 and 40 ! | 3
Double it 2 5 5 4 5 4
80 x10= 800 °oe [ 1800 4 and 20
P ~ Find half and 5 and 16 Tick the true statements
L 80J X |00 =8000 subtract (200 2800 8 Clnd 10 would be rounded down when
_ o J‘ rounded to the nearest 10

is divisible by 8

X
any which are between 80 and |00
( ) ( 8 has 4 as a factor /
‘[ | L 2 ) 3 L 4 ][i] ¢ I 4 9 16 25
‘ 7 8 9 10 ]| I 12 36 49 64 8 100 has more than 2 factor pairs /
. S
f ) ) Circle the numbers 's 2 prime number | X
80 |+ 20 |=100 — 80 ‘cm _, |larger than
) 80|+34<¢8| &
What is the perimeter XXV LI
80 +920 oo | | MIEIET s |t < 80)+ 5 x
of this square < +
p— 9 XXXl LXXXIII
80 + 10 =90 (33) (83)
) 4 x 80 cm LXXXVI LXXN is divisible by 3 | 3¢
e
= 320cm = 3.2m (86) (72)
+ = |80
L 8OJ ]-OO What is the area? XXIX c 80 is within 10 of 2 square number \/
(29) (100) q
o
80 +(280 |= 360 80 cm x 80 cm XCVi XIV 80| o
is within |5 of a cube number
— = 6400 cm? (%6) (14) D x
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“\ r
Label the number line and draw an arrow to estimate + 10

8 1 } | | l Radius = rnm

Diameter =

° 1 2 3 4 5 6 7 8 9 0
(30 to 90) \ )
— 4 ™
Work out all the
1-1= 81 A Round to the .
i 81 +|0= 81 nearest unit 8 factor pairs of Circle the fractions
81 L9 = 40r1 40 3 or PR, G which are bigger than |gq
=27 405 81 -100=0.81 Doubleit 1.62 1 and 81
20rl or 20 % or 2 4 1 1 3 n 8
81:4- 20.25 o | Double it 3 and 27 2 5 5 4 5 T 10
— . ouble i
81 s 16r1 or 16 1/5 81 x |0 = 810 and add 200 1820 9and 9
or 16.2 o2 i Tick the true statements
— — _ Find half and
81 +8= 10rlor 10 1/8 L 81J X |00 _8100 subtract 1200 2850 would be rounded down when /
= _ - J rounded teo the nearest 10
' . ltiole of (circl | List the first 10 square numbers and circle is divisible by 8 | $¢
Start with e mdliiphe e el any which are between 81 andl00
( ) 81 has 4 as a factor
Divide it by 10 8.1 [ i I G I I | 4 9 16 25 j x
Double your 7 8 9 10 12 36 49 64 8l 100 has more than 2 factor pairs /
answer 162 L . )
i i b
Subtract 0.9 15.3 F_i_ 19 100 T‘ Circle the numbiar‘s 's @ prime number | 3¢
= — » | larger than
Add 3.5 1 — bl ’ 81 +34<68| &
8.8 + 919 | = 1000 What is the perimeter ;‘:;; {I'-;:l
Multiply it by of this s )
quare 132 -:.-81 +52| o
10 XXXIII LXXXIII
Round to th 158 8l + 9 |=9 33) 83)
n;’;‘p"es, c;o ¢ 190 - 4 x8lcm LXXXVI LXXII is divisible by 3| 4/
81 + 99 = 180 = 324cm = 3.24m (86) (72)
Add 200 390 L ) What is the area? ’:::; [130} 81 Iis within [0 of 2 square number \/
)
Round to the + =360 8lcm x 81 cm Xcvi XIv [ ] o
nearest 100 400 81 279 - 6561 cm? (96) (14) 81 is within 15 of a cube number X
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“\ r
Label the number line and draw an arrow to estimate + 10

(30 to 90) \ %

Radius = rnm

Diameter =

2 /Work out all the h
1= 82 ] _ Round to the .
8—’ 82 |+10= 8.2  1earest unit 8 factor pairs of Circle the fractions
hich are bigger than
— S %HOO:O.SZ Double it 1.64 1and 82 S E— ﬂ .
r2 or 20 3 or
L4 = 2 and 41 - —
8_2 20.5 82 ) _ 820 Double it 1840 2 5 5 4 5 4 o}
82 5= 16r2 or 16 2/5 oc X 10 = and add 200
' or 16.4 - - _ Tick the true statements
— — _ Find half and
8= 10r2 or 10 % or \82) x 100 —8200 subtract 1200 2900 would be rounded down when
82 = 82 v
— 10.25 . J‘ rounded to the nearest 10
(" '
: : ‘ List the first 10 square numbers and circle is divisible by 8 | $¢
Start with BRI o (el any which are between 82 andl00
l [, ) has 4 as a fact
Divide it by 10 82 ‘ | z 3 4 3 6 [ 4 9 16 25 @ 2 dasafacior| X
Double your 16 4 ‘ 7 8 9 10 I 12 36 49 64 8 100 has more than 2 factor pairs | §¢
answer .
. S
Subtract 0.9 155 E\_‘_ 18 100 E“‘ Circle the numbers 's 2 prime number | 3¢
= — cm » | larger than -82
Add 3.5 19 P— 82 +34<e8| %
What is the perimeter XXV LI
Multiply it by 190 + 918 |= loco of this s:uare? 25) 25) 132 < +52| of
10 — XXXI1I LXXXIN
Round fo th 2 82+ 8 |=% ) 53)
ound To The 190 , 4 x 82 cm LXXXVI LXXII is divisible by 3 | $¢
nearest 10 9 —
+ = 180 = 328cm = 3.28m (86) (72)
Add 200 390 L 82j 98 What is the area? ’:::; [130} 82 Iis within 10 of 2 square number \/
o
Round to the + =360 82 cm x 82 cm Xcvi Xiv { o
nearest 100 400 82 278 4724 e (96) (14) 82 is within 15 of a cube number X
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“\ r
Label the number line and draw an arrow to estimate + 10
8 | | | | | | | | |

(30 to 90) \ )

Radius =rnm

Diameter =

—— p— N

Work out all the

- 1= 83 ] ] _ Round to the .
83 83 - |0 = 83 nearest unit 8 factor pairs of Circle the fractions

41rl or 41 % or — which are bigger than |gq

§+z= 415 _|00— 0.83 Double it 1.66 1and 83
. | 3

83_4_20r'3or'20% 74
- -— .~
il or 20.45 83 10 = 830 PDoubleit 1860 2 5 5
g3 5= 16r3or163/5 ) x19= and add 200
== or 16.6 83 100 = 8300Fmd half and 2950 Tick the true statements
83 +8= 10r3 or 10 3/8 x subtract 1200 - would be rounded down when
= e J/ 83 rounded to the nearest 10

( _ ltiole of (circl ) List the first 10 square numbers and circle is divisible by 8
Start with BRI o (el any which are between 83 and |00

has 4 as a factor

Divide it by 10 8.3 [ o N A T T | 4 9 16 25 @
Double your 7 8 9 10 I 12 36 49 64 8 100 has more than 2 factor pairs
answer 16-6 L )

Subtract 0.9 15.7 ey Circle the numbers 's 2 prime number
| 83 + 17 = |00 PR 83 ‘ cm —» | larger than 83+ 240

Add 3.5 19 2 - _ ‘ o v D+ <

+ 917 - 1000 What is the perimeter o) {I'-ssj

';g””ip"' It by 192 of this square? o T Sood 132 < +52
" o~ o~
- 33 83
- x 83 cm LXXXVI LXXII 83 | is divisible by 3

VR IRNEIRNEAEZEERN

nearest |0 e = S (86) (72)
83 + 97 =0 What is the area? XXIX C s withi
Add 200 390 L ) hat is the area? (29) (100) 8 3 |is within 10 of 2 square number
Round to the 83 + 277 |=360 83 cm x 83 cm XCVI XIV -
nearest 100 400 \ ) - 6889 cm? i (96) (14) is within |5 of a cube number x
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84 |

“\ r
Label the number line and draw an arrow to estimate + 10

Diameter =

Radius = rnm

0 1 2 3 4 5 6 7 8 9 0
(30 to 90) \ /
—— — | 7 N\
Work out all the
1= 84 ] _ Round to the .
_% @T |10 = 84 nearest unit ML/ factor pairs of Circle the fractions
EEE— hich are bigger than |50
22 = 42 PR w 39 100
ﬁ 84 -|00= 0.84 Doubleit 168 1 and 84
84l.4- 21 2 and 42 o2 o4 10 3 9] e
— 84 _ 840 Double it 1880 3and 28 2 5 5 4 5 4 ﬂ 10
84,5 Graorieass x10 = and add 200 4 and 21
"7 orl68 - ick the t tat t
) Find half and 6 and 14 Tick the true statements
(" M 1 —
8= 10r4 or 107 or L 84J x 100 = 84oosubfr‘ac1 1200 3000 7 and 12 would be rounded down when /
Sl 105 _ o J rounded to the nearest 10
(" h
: : ‘ List the first 10 square numbers and circle is divisible by 8 | $¢
Start with @'s a multiple of (circle) any which are between 84 and |00
( ' ( ( ) 84 has 4 as a factor
Divide it by 10 8.4 - ] ; ] )L I | 4 9 16 25 j v
Double your 7 8 9 10 I 12 l 36 49 64 8 100 has more than 2 factor pairs /
answer 168 = )
Subtract 0.9 159 — W Circle the numbers is 2 prime number | $¢
§ 84 + 16 = 100 -— ‘ cm —» | larger than @ 14 < 68
J +34<
Add 3.5 194 - ‘ XXV LVI X
+ 916 | = 000 What is the perimeter o) 56)
Multiply it b .
10 P 194 p— 7 i SGHLEr e XXXl LXXXIII 3 c 52|y
+ - 90 (33) (83)
Round 'fciothe 190 84 , 6 4 x 84 cm LXXXVI LXXII is divisible by 3 \/
neares 84+ 96 |- o = 336cm = 3.36m (86) (72)
Add 200 390 L ) What is the area? ’:::; [130} 84 |is within 10 of 2 square number \/
Round to the +12 =360 84 cm x 84 cm Xcvi XIv ﬁ L
nearest 100 400 84 76 e (96) (14) 84 is within 15 of a cube number x
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“\\ r 1
Label the number line and draw an arrow to estimate + 10

8 5 } | ' | | | ' ! | | - =mm

Diameter =

° 1 2 3 4 5 6 7 8 9 ° 170mm
(30 to 90) \ / = 17cm
— — | N
Work out all the
85+ = 85 ] A Round to the .
St 85 =|0= 85 nearest unit 8 factor pairs of Circle the fractions
85 L9 = 42rlor 42 3 or PR which are bigger than |gq
. 425 85 |-100= 0.85 Double it 1.7 land 85
85 :4= 2llor2lior) | = 5 and 17 ERE R 3 B
=29 21.25 Double it 2 5 5 4 5 4 u 10
?5 5= 17 85 xl0= 850 and add 200 1900
. " ) - Tick the true statements
— — Find half and
x 100 = 8500 3050
8= 1 1 L 8_5 ) subtract 1200 . would be rounded down when
i5 Or5 or 10 5/8 - J rounded to the nearest |0 X
( 85 | ltiole of (circl ) List the first 10 square numbers and circle is divisible by 8 | $¢
Start with BRI o (el any which are between 85 andl00
( ) 8 has 4 as a factor
Divide it by 10 85 )2 e ] ¢ | 4 9 16 25 E x
Double your 17 7 8 9 10 I 12 36 49 64 8 100 has more than 2 factor pairs | $¢
answer
\. S
Subtract 0.9 161 fﬁ\." 15 00 F“ Circle the numbers 's 2 prime number | 3¢
Add 35 19 6 L ) - — em —» | larger than @ ca<en| x
. 85 |+ 915 |= 1000 What is the perimeter XXV LvI
Multiply it by 9 ) £ thi ? (25) (56) 32 < - + 52
10 196 P— CULILSE Uk XXXIII LXXXINI 85 v
+ =90 (33) (83)
Round tfo the 85 , 5 4 x 85cm LXXXVI LXXII 85 | is divisible by 3
nearest [0 p— X
85 |+ 95 =180 = 340cm = 3.4m (86) (72)
Add 200 400 L ) What is the area? ’:::; [130} 85 |is within 10 of 2 square number \/
)
= XCvi
E::Pneds:c;{:ge 400 85 + 275 360 85 C7|’22)(585 Zm (96) {T:; 85 is within 15 of a cube number X
— = cm
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“\ r
Label the number line and draw an arrow to estimate + 10
8 6 } | | | | | | | |

(30 to 90) \ %

Radius =rnm

Diameter =

— 4 N
Work out all the
86 1= 86 ] A Round to the .
— 86 +|0= 86 nearest unit 9 factor pairs of Cifcle the f.racfions
86 +2= 43 PR which are bigger than |oq
— 86 +100=0 86 Doubleit 172 1and 86
86 - 4 - 21r2 or 21 3 ’ — > and 43 A _3 8
— or 21.5 86“ - 860 Double it 1920 2 5 5 4 5 4 ﬂ 10
86 s - 17rl or 17 1/5 66 x10= and add 200
' or17.2 - ~ _ Tick the true statements
— — _ Find half and
86 =8 = 10r6 or 10 % L 8_6J X |00 _8600 subtract 1200 3100 L y would be rounded down when X
— or 10.75 rounded to the nearest |0
' 86 | iole of (circl ] [List the first 10 square numbers and circle is divisible by 8 | 3¢
Start with BRI o (el any which are between 86 andl00
[ ] 86 has 4 as a factor | $¢
Divide itby 10| 8.6 | “ 234 | 4 9 6 | 25 j
Double your 17 2 7 ‘ 8 9 10 I 12 36 49 64 8 100 has more than 2 factor pairs | 3¢
answer . L )
i i b
Subtract 0.3 16.3 ’8—6\ 14 ?‘ Circle the numbers Is 2 prime number |
+ = 100 larger th -m
- cm —» dger Than
Add 3.5 P— 86|+34<68| &
19.8 + 914 = 1000 What is the perimeter ;‘X\; {Wll
Multiply it b - : 25 36
o TRy 198 of this square? " oo 132 < +52| v
s - 90 (33) (83)
Eg::eds:c;(:he 200 & 4 4 x 86cm LXXXVI XX is divisible by 3| ¢
86 + 94 = 180 = 344cm = 3.44m (86) (72)
Add 200 400 L ) What is the area? ’:::; [130} 86|is within 10 of 2 square number \/
Round to the + =360 86 cm x 86 cm Xcvi Xiv [ ] o
nearest 100 400 86 | 274 - 7396 cm? (96) (14) 8 is within |5 of a cube number | $¢

© Eastpoint, NR32 2EX www teachingconcepts.com  For best results, use Show-me slim drywipe pens and Show-me mini foam erasers. RRB6A



87

.

Label the number line and draw an arrow to estimate + 10

Diameter =

0 1 2 3 4 5 6 7 8 0
(30 to 90) \ /
— 4 N
t all the
- 1= 87 o Round to the Work oul
8—7» 87 +10= 8.7 nearest unit 9 factor pairs of Circle the fractions
43rlor 43 5 or which are bigger than ng
87 29 = 2 PR 33 100
872" 435 87 ):100= 0.87 Dowiet | 174 1and 87 B
21r3 or 21 % or 4 113 8
+ 4 = 3 d 29 -
8_7 21.75 o) _ Double it an 5 4 5 4 ﬂ 10
g7:5- 7r2or172/5 87 x10= 870  andzda200 | 1940
' or17.4 - 87\ 100 8700Find half and 3150 Tick the true statements
87 -¢= w7078 | |0 sbirct 1200 . )| [87)westsre oo e ¢
i h
: : . List the first 10 square numbers and circle is divisible by 8 | $¢
Start with 87}'5 a mulfiple of (circle) | |\ hich are between 87 andl00
f ) ( ) 87 has 4 as a factor
Divide it by 10 8.7 | ) 2 3 100 ¢ | 4 9 3 25 j x
Double your 17 4 7 8 9 10 I 12 36 49 64 8 100 has more than 2 factor pairs | $¢
answer . L )
Subtract 0.9 165 — 7 Circle the numbers is 2 prime number | $¢
N 20 § 87J+ 13 = 100 — ‘ cm —» | larger than @ ca<en| i
‘ + 913 = 1000 What is the perimeter :"“; {W'l
- . = 25 56
';’(‘)U”'P'Y 't by 200 of this square? o T Sooam 132 < +52| of
7 =
87 + 3 = 90 (33) (83)
:g:rﬂeds:c;(:he 200 , 4 x 87cm LXXXVI LXXII is divisible by 3| 4/
( 87\ + 93 =10 = 348cm = 3.48m (86) (72)
Add 200 400 L ) What is the area? ’:::; [130} 87 Iis within [0 of 2 square number \/
Round to th + =360 87 cm x 87 cm Xcvi XIv o
n::Pnes' c;{me 400 87 273 RN (96) (14) is within 15 of a cube number x

Radius =rnm
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88

.

Label the number line and draw an arrow to estimate + 10

Diameter =

0
(30 to 90) \
88 1= 88
88 :2= 44
88 :4= 22
a0 17r3 or 17 3/5
88+ 5= or17.6
88 8= 11
Start with
Divide it by 10 8.8

Double your
answer

Subtract 0.9

17.6
16.7

Add 3.5 20.2
Multiply it b

QP 202
Round to the

nearest |0 200
Add 200 400

Round to the
nearest |00

400

Radius = rnm

2 3 4 5 6 7 8 9 0
Round to the /W(Jl"k out all the h
88 =|0= 88 nearest unit 9 factor pairs of Circle the fractions
which are bigger than |gq
88 ~100=0.88 PDoubleit 176 1and 88 n
) - 2 4 1 1 3 8
— Double i 2 and 44 7 s 5 4 54.0
ouble i
88 x10= 880 and add 200 1960 4 and 22
- ~ _ Tick the true statements
88| x 100 =8800 Fndhalfand 13500 8 and 11
L J subtract 1200 would be rounded down when X
_ o J rounded to the nearest |0
' 88 |. iole of (circl ) List the first 10 square numbers and circle is divisible by 8 \/
BRI o (el any which are between 88 andl00
( ) ) 88 has 4 as a factor /
| J 2 ) 3 4 ] > ¢ I 4 9 16 25
7 8 9 10 I 12 36 49 64 8 100 has more than 2 factor pairs /
\. S
i i b
%\." 12 00 88 ‘ Circle the numbers 's 2 prime number | X
= PR _ 4 | larger than
) cm ; 88 |+34<68| &
What is the perimeter XXV LvI
88 |t 912 |= 1000 (25) (56)
- of this square? o DOOaN 132 < + 52 \/
l+ - 90 (33) (83)
ﬁ_z 2 4 x 88cm LXXXVI LXXII is divisible by 3 | 3¢
’ 88 1+ 92 |=180 = 352cm = 3.52m (86) {72)
L ) What is the area? ’:::; [130} 88 Iis within 10 of 2 square number \/
= XCvi Xiv
88 r+ 272 360 88= C7I’;4X48C8m§m (96) (14) 88 is within 15 of 2 cube number | $¢
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“\ r
Label the number line and draw an arrow to estimate + 10

8 9 } | ' | | | ' lI | - =mm

Diameter =

° 1 2 3 4 5 6 7 8 9 0
(30 to 90) \ )
— - N
Work out all the
1= 89 ] _ Round to the .
8—9’ 89 +l0= 89 nearest unit 9 factor pairs of Circle the fractions
89 L9 = 44rlor 44 3 or PR which are bigger than |gq
=7 445 89 -100= 0.89 Doubleit 1.78 1and 89
89 4= 22rlor 22 % or e 3 8
=27 22.25 ) Double it 2 5 5 4 5 4 u 10
89:5-= 17r4 or 17 4/5 89 x10= 890  andsdd200 | 1980
or17.8 ) 100 Find half and Tick the true statements
a9 x100=8900 3250
8= L 89J subtract 1200 . would be rounded down when
89 11r1or 111/8 _ (N J m rounded to the nearest 10 X
( h
89 . ltiole of (circl List the first 10 square numbers and circle is divisible by 8 | $¢
Start with BRI o (el any which are between 8Q andl00
( ) 89 has 4 as a factor | §¢
Divide it by 10 8.9 . I R | 4 9 16 25 j
Double your 17 8 7 8 9 10 I 12 36 49 64 8 100 has more than 2 factor pairs | ¢
answer . L )
Subtract 0.9 169 — W Circle the numbers is a prime number /
89 |+ 11 |=100 — ‘ cm —» | larger than
Add 3.5 204 P— 89 +34<e8| i
. + 911 |= 1000 What is the perimeter ;‘X\; {Wll
Multiply it by i of this square? > > 132 < +52| f
10 2 p— q XXX LXXXIII
R d to th 04 89 + 1 =90 (33) (83)
ng::es, c;o ¢ 200 ) 4 x 89cm LXXXVI LXXII is divisible by 3 | $¢
89 + 91 = 180 = 366cm = 3.56m (86) (72)
Add 200 400 L ) What is the area? ’:::; [130} 89 |is within 10 of 2 square number \/
Round to the 89 + 1271 |=3¢0 89 cm x 89 cm XCvI XIv - .
nearest 100 400 \ ) - 7921cm? (96) (14) m is within 15 of a cube number x
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90

“\ r
Label the number line and draw an arrow to estimate + 10

Diameter =

Radius =rnm

° 2 3 4 5 6 7 8 9 N 180mm
(30 to 90) \ / = 18cm
— - N
] Work out all the
= 1= 90 ] _ Round to the .
9£; 90 +l0= 9 nearest unit 9 factor pairs of Circle the fractions
90 9 = 45 PR EE— which are bigger than |gq
— 90 |=100= 0.9 Doubleit 1.8 1and 90
90 é4_22r‘20r'22% 2 and 45 24 1 1 3 98
-~ or 225 90| 10 = 900 Double it 2000 3 and 30 2 5 5 4 5 4 10 |0
90 .5= 18 and add 200 5 and 18
e Find half and 6 and 15 Tick the true statements
90 8= 1Ir2 or 11 % or L 9OJ x 100 9ooosubfr‘ac1 1200 3300 9 and 10 would be rounded down when X
uihls 11.25 — - J rounded teo the nearest 10
' 90 . ltiole of (circl ] [List the first 10 square numbers and circle is divisible by 8 | €
Start with BRI o (el any which are between 90 and 100
( ) ) 90 has 4 as a factor x
Divide it by 10 o L '4.21[3 ) ¢ 5] 6] | 4 9 16 25 j
Double your 18 7 8 l 9 10 I 12 36 49 64 8 100 has more than 2 factor pairs /
answer L — )
Subtract 0.9 171 — W Circle the numbers is a prime number | 3¢
90 + 10 = 100 — ‘ cm —» | larger than
Add 3.5 20.6 P— 90 |+34<68| %
: + 910 |- 1000 What is the perimeter ;‘X\; {Wll
Multiply it b - : 25 56
0 Ply 1 BY 206 of this square? o~ Do 132 < +52|y
l+ - 90 (33) (83)
Eg:rﬂeds:c;(:he 210 90 , 0 4 x 90cm LXXXVI LXXII s divisible by 3| v/
90 + 90 = 180 = 360cm = 3.6m (86) (72)
Add 200 410 L J What is the area? ’:::; [130} 90 |is within |0 of 2 square number \/
Round to the O+ 1270 |=360 90 cm x 90 cm Xcvi XIV ﬁ o
nearest 100 400 9 7 G (96) (14) 90 is within 15 of 2 cube number | ¢
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